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CHILD DEVELOPMENT AND PEDAG i
9. Nos, 1 to 30) by selecting Whe coTrt

Direction ¢ Anstotr e folloteing questions ’f—~- 1 FF# h il ’
Frder : Fefoifian v (q w1 230) F IWET D [T _Jwﬂmﬁﬁﬂ_ AT v
serto differences among learners

1.  Assertion (A) : Teachers should respect
their teaching to cater to nee

nost ﬂpprup.rirlrfr ophiotis.

nd adapt

the individual
ds of all students,

& avoided
tions among students should be avolded

Reason (R) : Collaborations, group wu[]:;u and interac .
while teaching a class of diverse learners.

Choose the correct ophion.

(1) (A) is tue but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true:and (R) is the correct.ex
(4) Both (A) and (R) are true but (R) 1s not the correct exp
sifirmus (A):  Towr] =1 foenfefe & = s e g F0 Al
TS 3 STER AT e F) FE e e i
s = Faf e 5 Freried ) A A, T S W, HE w3

planation of (A)-
lanation of (A).

s it faenferal =1

FHIUT (R) :

AT & == e 00@
Wil foed =7 | ‘&%@
(1) (A) =& & @ (R) T € 2

(2) (A) = (R) =T e E
(3) (A} &0 (R) ZFT W E ST (A) F(R) HE =0 = o
(4) (A) 3 (R) 21 Tt & @b (A) i (R) 96 srEn 169 o )

2. A key commonality in Piaget and Vygotsky's theories 15 :
(1) Involvement and engagement of children in their own learning,
(2] The role of culture in the cognitive processes.
(3)  Their views of relationship between language and thought.
(4) Focus on slage-like progression in children's development.
ferardt el AR 3 Fgit o yg@ T R
(1) = =y e § e i e
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4. According to Jean Piaget how are childre

(2)  Children's thinking is quantitativ
(3) Children ate dependent ¢

(4)  Adults are much more

i foard ¥ s @t 9
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s £ 7
olationship between Janguage and though

According to Lev "Lr‘p"[;ﬂL‘kf-' what 'ﬁ-'l':];'q. I
of each other

i P

r v — = I
anguage and thought are 111;:Inpemlr 1
(1) Language : 2 o e developrent

. .
(2) Language and thought are L‘Uﬂ_'!.j?.!'f-"; interrelated e

(3) Language does not shape thull.l-ém
(4) Thought shapes language s
B AT % SEE aﬂvﬁmq‘ﬂiﬁ%ﬁmﬁﬂ’b’?
(1) mmaﬂ?ﬁaﬁﬂﬁfgmﬂﬁﬁ‘ﬂﬁ_ni

(2) W 3 faem famm =5t wfee fatvm wiwad €
(3) T A SRR A R

(4) TE=W W ST A

A teacher asks herself - “How can I provide experiences that require students to classify different
types of objects in the environment and analyse their classification schemes ?° Which intelligence
15 she brying to promote in‘students ?
(1) Naturalistic Intelligence (C)2) Bodily- Kinesthetics Intelligence
{3) Linguistic Intelligence 03[4} oﬁeu-pm'sumi Intelligence

Wi w %’ L3
wﬁrfﬁ:ﬂqaﬁm%- #ig BR W =1 Al § o 2 w1 qatE | fafas w9
SFE i i F3 A ST hTHT ] TEve F79 Fit amevaw 012" S e | e
HiGHH ] F@ET o1 I HI9 FTEE
(1) Wil ghamm ()2 wrifeE-nfreEd afge

() st ) st atom

B.  Feedback to the students in a classroom is most effective when :
(1) It focuses on what the child cannot do rather thanwl'l.atthey can do.
(2) It centres around tests and exams at the end of the year,
(%) It assigns comparative ranks to the students
(4) It occurs during as well as after the learning activity,
Tl 3 o w3 e ST 9 B 8
(1) 96 59 91 W e digs & | ﬂ-qﬁmmmmfmﬂwmm%
(2) @& % 3 H ity @i i L |
(3) 4 BT W) qErT AV WEE Hia |
(4) @ wi@ w1 nfafafy & ﬂ%mtﬂmh
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Change and stability ix
(1) Psychosocial deve
(3)  Personality develt
TS, =i s A
(1) AT e
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pijt‘:lleu that :
ldren’s age-group
the activity instead of

and stage in mind. i
the process of thinking.

13. Jean Piaget’s theory of cognitive development im.

(1) Curriculum should be ¢1e51g1;:d:.1~:.u|:!’i:l:3{“;:?
Tacus sachine s be the oulco .

::?1.: IFI:I:;'.IZiI:'{:;'i::EJ' l;n:t]}:idltiuru-_f;ifu?rilu'. rewards and Fur_liﬁhm!mtb-
(4) Concepts should be taught in a .t*rte_-Elmnrc- of complex 1o simple-
i e & HaeTE e 5 i s € i
(1) IETERE ® T % Y Wﬁﬁ%ﬁ.ﬁmﬁﬁﬂﬁﬁﬂﬂfﬁﬂmm'
(2) mmmaﬁwhﬁfu*mﬁmqﬁiﬁfmwswﬁmw
(3) TEER ! @8 o g & anan A STyt et s = iee )
(4)  STEUINEA] 1 S @ 7 o wn § fm @ =i |

14, How does setting mastery goals impact a student’s motivation and views of ability ?
(1) It often implies enhanced extrinsic motivation and belief in the entity view of ability.
(2) It often implies enhanced extrinsic motivation and belief in the incremental view of ability.
(3) It often implies enhanced intrinsic motivation and belief in the entity view of ability.
(4) It often implies enhanced intringic motivation and belief in the incremental view of ﬂblht}"'
TERd TIEE w6 % we i s {grjﬁ'r stfvETm 2R A & A o fear 5 gefed # 8 2

(1) wmmtwmiﬁgmﬂé\mmmﬁmh
(2) qsmﬁnm%qlﬁsﬂaqhaﬁ{ﬁaﬁgﬁﬁﬁaﬁmmﬁmﬁmil
(@ wmm%mﬁmw@%mﬁmmmmmaﬁmm

() wmm#qmﬁmm@ggﬁ%@ﬁmmmmﬁm%.

15. Assertion (A): During adulﬁcmce@prmum to conform to gender expectations and follow
conventions of feminily or masculinity increases,
Reason (R) : Gender and gender roles are determined biclogically.
Choose the correct option. L
(1) (A) is true but (R) is false.
(2) Both (A) and (R) are false.
(3)  Both (A) and (R) are true and (R) is the correct explanation of (A).
(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).
Hiwa (A) : Mﬁm#ﬁmﬁam%aﬁmﬁamﬂmﬂﬂmmwm%

FIOTR) ;e i ey g e sy A w5t g
wel oo 7 | (r)

(1) (A) A EAFEAR) TRl A

(2)  (A) o (R) @il e %

(3)  (A) ¥ (R) 1 1 § 3it (A) FTUR) T v wven

(4)  (A) #NC(R) ZFl A S (A) FIUR) W = 6 oy 3,
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(A) = (R) 3 77 €1
(A) ¥ (R) 2 6 € 2
(A) #i (R) 27 7t

Which of the following:
classroom 7

(1) rai
(2)
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O
'l"s"hu Il of the (ollowing is a ,.-[11-'“1.‘-”-?- I'I't:'"fhl}d FEI.E]' ;
: before and after the class

18.
af non-

n do

] 1 I i 1 '|I
(1) Formative assessment : determining what the students ¢
as well as detailed accounts

Summative assessment @ involves paper - pencil tests

written behaviours

Criterion - referenced assessment : includes mastery of specific topics
that of peers

12)

(3)
(4) Norm - references nssessment ; compares performance (o

frefafan § 3 #F-m o gafem gm 82
(1) T YA - a7 Fuife won i o wa | Tee ot A § w0 A @
(2) e YA ¢ g A e 3 Ay fe- e s & fasgd faE mie §
(3) rEE-Halv qetw ; fafive fawai =1 werg wive 2
(4) - T e e e e
19. Sunita, a 12 year old girl, shows exceptional musical ability. Both her parents are accomplished

singers, and they send her for classes for voice training after school. Her capabilities are most likely
to be the result of an interaction between : -

(1) heredity and environment (2) gg@dur identity and genetic make-up
(3) growth and maturation (4) @Wutrition and discipline

iﬁm.r@uaﬁuasﬁfﬂﬁﬂwiﬁuﬂ@@mﬁil 30 Hrr- o, 21 & o s £ s
) mmmmmmﬁ%m%mmﬁﬁﬁﬂﬁ ﬁﬁmﬁ%mﬁﬂﬁﬁmﬁﬁ

FIH1 & el Teren w1 vt &2
(3)  f& #i wftam () e s s

20.  Which method did Lawrence Kohlberg used to study moral development of child 7
(1) Conducting observations of children during play =)
(2)  Experimental method
(%) Quantitative research approach
(4)  Posing moral dilemmas to children and analyzing responses
mwaw%mmwmm%mﬁmﬁmmmﬁm
(1) & % s w7 araeia Fo
(2) W fafy
(3) WA ¥y T fafy

() =1 % A Afi st za s st S
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¢ are especially important
- i i priam ____———
24, Sensitive periods are those bme periods during which ¢
for course of ‘normal’ development
; sreditary factors
(1 environmental factors (2) hereditar)

(3) genetic predispositions (4) ethnic factors

el STy = st g & frd 0 FT  famEd

e Bl © |
(1) AEIE HHh (2) ST HEE
(3)  Ffaes FHE (4) WFESI FEH

25. Students struggling with dyslexia can be taught to read :
(1) By giving long and complex passages,
(2}  Through association method of conditioning,
(3) Through systematic phonological training,
(4) By providing higher grade level reading texts.
ﬂ?—rﬁmﬁqmﬁaﬁﬁmfﬂﬁmmmﬁﬁ

(1) | o i i T @\""

(2)  FHe mﬁﬁﬁ:ﬁ?w‘éﬁ

(3) =Haftyq S UE & A5reas 1)
(4) 39 U2 | & 929 19 U2 T |

26.  Which of the following question promotes analytical thinking ?
(1) What is the total population of India 7
(2)  What are the various causes of increase of population in India ?
(3)  The capital city of India is
(4] How many States are there in India 7
fada F W1 0¥ faverquned foam #1 w20 27
(1) W %1 Fet s e &2
(2) e ¥ St gfz % fafie wwo wm £
(3) v &t e LA
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Assertion (A) ¢ Teachers should give lot of opportunities to children for experimentation and
discuss examples and non-examples.

Reason (R) ¢ A constructive way of dﬂaling cﬁ:l:ﬁ misconceptions in children is to provide
counter examples. Co

Choose the correct option. )

(13 (A) 15 true but (R) is false, (I)

(2) Both (A) and (R) are false. Jf‘_‘*.

(3) Both (A) and (R) are true and (R) is the corre explanation of (A).

(4) Both (A) and (R) are true but (R) is not the L explanation of (A).

et (A) Tl = s 5 i fo g it e 34 s, s st e et
== At =ifew

U7 (R) : =] 1 T el B/ e w5 s TAnes i i S wee e €

wdt e =h | |

(1) (A) Hel & =15 (R) e &)

120 (A) 31 (R) 2 T €

1) (A) 3R (R) 2 B F ST (A) T (R) T S0 S
4)  (A) aftt[mﬁ‘aﬁ%ﬂﬁﬂmﬁ”fm}u@@%ﬂmh
‘Q
&

Assertion (A) : In Asian cultures wﬁi?h stres 1al harmony, expressions of ‘anger’ are
discouraged and ‘shame’ is encouraged.

Reason (R) :  Emotions are subjective and do ﬂ}al&}' any role in learning.

Choose the correct option. O)

(1) (A) is true but (R) is false. “J

(2)  Both (A) and (R) are false.

(3)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).

sfumREd (A) : e et B A A SerE g 2w S syt @ wentea
o e & sfie v R e R S
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() (A) ol (R) ZF T 2 @S
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30.

P-1 (IO 12 0

g

] ‘h 2T Shnu
In order to develop critical thinking among students 4 ik

(1) give questions that involve inferences and explanations.

(2) avoid questons which need inference and analysis.

(3) ask only those questions which carry single am:wer'%:-'-?’_

(4) discourage the students from asking doubts and qu{':;ljfﬂfﬁ-
faenfdl # s fiem =1 famfim =0 & fag, ﬁwﬂ

(1) T8 FEE & =il o fed s smend mive o #

(2) UR FAR | w1 witew fad fadem o favemm &1 sewsT gl 8 |
() R @ e e S o R

(4) ﬁﬂrﬁﬁfﬁmﬁtaﬂﬁﬂmﬁ{aﬁﬁ?@ﬁm@am‘ﬂfﬁu
- (o,
N4 -
& 0
S ﬂ::j'
o)

(1) Are meant to offer differentiated instructions as thvidual differences,

O

(2} Aim to remove all kinds of differences among the children.

Inclusive classrooms -

(%) Recognize that every child will leam at the same rate and at the same time,

() Is an educational program offered to cater to the needs of “special childrert.
HHTET A |

(1) swem-stem fimmeii % sER fafE e faoam 2

(2) ?ﬂ#ﬁﬂnmaﬁﬁﬁ'ﬁmﬁ?mﬁmmm@

(3) ﬂﬂmmﬁmmtﬁﬁﬁﬁmmﬁm@m|

) ﬁ'ﬁﬂnﬁf"wﬂmﬁmmﬁ#mww%mhmmm
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IMPORTANT | Wgvarqof

Candidutes have to do questions 31 to 90 EITHER from }i:ﬂr.r - II (Mathematics and Science) OR from
Part - [II (Social Studies / Social Science). iy

getenfefat &1 UPT 31 |00 T At Wi - 11 (*rﬂ?ﬁ'a'ﬁm%w4 111 { Arfires sreaa / ATaE
fararT ) & &0 B )

E

PART - Il / n

MATHEMATICS AND SCIENCE / 7fore a fsm
Direction : Answer the following questions by selecting the climost appropriate options.
ﬁ#rﬁﬁﬁﬁﬂﬁm*mﬁ%mﬁﬂmm gAT 1

31. A teacher distributes different types of triangle shapéd paper cuttings to the learners and tells
them to measure and tabulate the angles in order to find the sum of angles, He tells them to note
the result in each case.

This method of teaching is an example of :
(1) Deductive method (2) Analytical approach
(3) Discovery method (4) Teacher centered approach

v v favenfet 1 Fafiye o 3 AR 0T 1 Ft fate e § A S i a5 A wm
F19 & o0 w1 9T ﬁtmﬁﬁ?ﬁqw o % Wedh qideia | gieme A 94 &
(9)

fl Fad £ | O
fogm =1 =® fafy T UF W\E}\W o
Ly L ! L — Y i N\
Q
115 EULEEIRE? i‘:ﬂ‘q I:% mﬁ%
@) i s

o0 .

32. The number of fanE.E[F},ﬂdgEﬁ[E} and wvertices (‘u’}m polyhedron are 7, 15 and x, respectively.
[hen, the value of (REF3ESET) is:

(1) 18 @) 17 @) 20 4 19
ferrdt AT < e (F), TRl (E) 3 it (V) 1 Heamd wen 7,15 3R x §1 79, (2F + 36— 4x)
F1OE F
(1) 18 (2) 17 ® 20 (4) 19
SPACE FOR ROUGH WORK / T &d & e s
P
O
49/
<I
O
o)
Q0
S LT o K
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o 15,
33, Marks obtained by some students of a class are 36, 37, 31, 42, 23, 35, 17, 18, 35, 25, 29 and 33
The difference of the mean and the IH:I’IE_EE of the data 15 ¢ ]
(1) 5.5 (2) 6.0 I' J (3) 4.5 (4) 5.0
frelt w0 & g P g W 3ig96, 37, 31, 42, 23, 38, 17, 18, 35, 25, 23 35 €
7 silwdl ¥ T ol oftw = sfm d
(1) 5.5 @) 6D | o ¢ (8) adi (4) 5.0
" .|
38 If (20+5y)2-5(2x+5y) - l4={1t+-5y4-;;]{.1r+5y+ q), then the value of (p+q) 18 :
) I (2) -5 @) 7 (4) -—14
A% (2e+5y)2 ~ 5(20 +5y) — 14 = (2x 4+ 5y + p)(2r+ 5y +q) &, @ (p+q) T AV E :
[RS8 @ -5 @) 7 @) —14

35. A trader buys 12 fans for ¥ 24,000, He marks each fan at 25% above the cost price. If he sells all
fans by giving 10% discount on the marked price, then his overall profit (in T) is :

(1) 3200 @ ss000 KOV 3y 2700 @) 3000

0 . o0 ; .
:r,a:a'mm1;qaﬁrzmm#.ﬁﬂamil{yu%ﬂoﬂﬁaﬁmm@nzﬂ 31T W 3ifwa = £
Al & |l 9= F 10% F 92 T S90S, 71 5 st sawm am (T H) &

(1) 3200 (2) 3500 B (3 2700 (4) 3000
(@)
(a—b+qg*- b—c)? G‘}
36. E}b = ;ﬂ 8o is equal II:r\-I
(1) —4c (3) 2c (3) b-c (4) c-a
a-b+¢? —(a—b—g)? —= e
b-a
(1) —de (2) 2 (3) b-c S e

SPACE FOR ROUGH WORK / 7% %14 % ferq wre

LOEVBER6

14
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_aM=CM. Ifangles A and Bare
40. M is a point on side AB of a triangle ABC -m!-h that AM=BM= CM. i
respectively x and 70% then the value of (3x +257) is equal 1o ;
70" 85"
G (&)1 AL (3) 70° (4)
A ST B

: -CM # = S
el B® ABC 1 %[5 AB Wt M e fig T wepm fee @ fF AM=BM = CM #1 Fig
#aw: x 3fT 700 §, A (3x 4 25%) A A T

(1) 100 ) 115° @ 70° @ 8
41. Thes i 0,25, 5 s
. The sum of the largest and smallest fractions among —, 2—, 8 ane 2|_‘:; 3
Fi J
7 39 9 37
1) 27 3y e : 2= 20
g0 ol Bl 8 T s
Rt =222, = R 2= H 18 T ol 2 fa wAT R
2
N
’0’00
7 39 N 9 37
[]F 2_  Jialt o, ] e
3 @ 2a & 6 45 ST

42. The ratio of two numbers ig 3 + 7 T _
numbers is - 837 and their LCM is 630. Then, sum of the LCM and HCF of these

(1) 600 (2) 660 (3) 30 (4) 300
&1 HEAHA] F AT 35 7 R A I LOM =630 # | 4, ¥ @A & LCM it HOF %1 9 &

(1) 600 (2) 660 (3) 30 (4) 300
SPACE FOR ROUGH WORK / T% =13 & fore v

PI0 16
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46 Two parallel liness
‘same side of the ix

(1) 148
(2x+15%) M3
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« Seience, Social Science, Hindifm;d
f rentral angles o, 80P, 657, 73° and 3(F. i‘ ¢ j
i ieih ] rence of the marks obtaine

therywhat is the diffe

“?- |I'| 11 [‘ii" lhl-.”-t.- l-I-“_'.. murks ”Ejl"'.”“_lfl hF i.l hl‘udE“l |“ r'l,-lntf“'_"[]]'lih{'

Fnglish are respectively represented by :«:m.‘lurs

total marks obtained by the students were 540),
AT - 9

by him/her in Mathematics and English |

T 1 50
1) 40 (2 30 (3) &0 4) S
ﬁmmﬁ,wmmm.w.WW;fwmmﬁW_
65°, 75° #ﬂﬁll"#ﬁmﬁﬂﬁaﬂﬁmﬁﬁmﬁﬁﬁ.ﬁm%i ufe =9 faeme
&, 7 T g T S st o wra i) @ at e

st w1 |ma: 907, 80%,

(1) 40 (2) 30 (3) 60 (4) 30

48. Which of the following does not imply the meaning of assessment ?

(1) Ithelps to diagnose individual differences, P

£L )
(2) [Itis a procedure to gather informalion of studént's performance.
p e © l{d@q P

(3) Itisevaluation. Q"b’o e B
NS @

{4) It helps to label the students, 6(\ CY :’
a0

Ffeien @ 4 0 s 5 ad 9 9 s e o)

(1) =% =i fu=medl =1 fem 50 9 Sema w=m )
(2) %ﬁmﬁ#mﬁmmmmmuﬁmm

(3) & e 2 (_D
CY)
(4) T T = AwitHa 0 e w g N

SPACE FOR ROUGH wnnx}li%i wrd & fer vy
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o value of 3x+32
x alea bh foct square, then va
1 v 45 the ]t!lulhil numbser which must be added to 455 to J"I'hl]-t it a per !

51
& pgual'to ;
i flul | - @ 2 (4) 14 .
2 5 Sl e & TR ;
5 . & § - = s ol = ﬂ‘l 1 I‘E T'Frm : ]
nﬁrﬂﬁiﬁwﬁﬁﬁm?-ﬁxﬂfiiﬂWﬂﬁ'ﬂ'@.ﬁﬁﬁﬁjaﬂﬂﬁg' d
a ; 14
(1), 11 (2) 5 (3) 2N) ()
Sl RO 1 s DO - —50° and LB=70,
52. Disa pointon side ABof a AABC such that CDis U!L:':Fi‘!_-}l‘f-ii-"f of ZACB. If ZA=50" anc
then ZADC isequal to : P
i -
(1) 70° (2) 100 (3) 3bAS (4) 50U
'Y = -
fdlt TS ABC Fi Y& AB Wt frm D U faig g9 W ' £ CD, FM ACB %1 HfgEE €1 e
ZA=50" AT ZB=70" &, @ LADC T4 ¥ :
(1) 70" (2) 100° (3)  30° (4) 507
53. Al upper primary stage, as per NCERT, which of the following topics have NOT been included

under number system 7

(1) Exponents and Powers (2) Square,togts and cube roots

(3)  Complex Numbers I_vl_]o(QF rar:ﬁnjlﬁ
NCERT & S8R, 357 M w7 W, ﬁ@cﬁm-—vﬁ# aﬁeﬁ freffoted § § F1H9-8 T wimtag a6
fg T # 2 ¥ 0
: 2N
(1) HmrE SR A (2) a3
(3} F=mEE @) = EJ’}

54.  Perimeter of a quadrilateral ABCD is 120 cm. If BO=48 CD=17
<A=£B=90", then area of quadrilateral ABCD (in cm®) is - g 17em; AD=40 e and

(1) 720 (2) 750 (3) 680 (4) 690
faH T ABCD %1 9 120 cm # 1 4 B =48

io=4bem, TD=17 AD= o o
tﬁ?@ian'mm%ﬂw(cmlﬂiﬂ': : I~ ik ———

(1) 720 ) 750 (3y (4) 690
SPACE FOR ROUGH WORK /: @ oo sy

LT e 20 '
K
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55. Which of the following statement is least appropriate regarding the proofs in mathematics ?
(1) 1tcan help the students to validate their own reasoning.
(2)  Proofs are built on intuitive knowledge and not reasoning,
(3) It explains why a particular mathématical result must be true.

% i 5 . Y ) s + 5 5
(4) It helps to reveal the connections-hdd provide insights into the underlying structure of
mathematics, D ' :

ﬁmﬁﬁ#mwmﬁwﬁ%ﬁﬂﬁwﬁmm%?

(1) % THEnfera 6 s v 3 vk 9 Sedwet § W w0 a £

(2) mm%ﬁﬁhmmaﬁ%ﬁﬁml

(3) =& = F ¢ foF e T o wftons g =29 @ =t |

(4) & BT B TSR HA T Hew HA § S 70 7 S w0 6 Sehe 5w S

56. Which of the following is NOT an indjmlng of creativity in Mathematics 7
(1)  Students use multiple and altemaﬁ___@nbleu@hmg strategies.
(2) Students can pose questions. ""—*'J (b
(3) Students use convergent thmkmg‘@ffmmt contexts,
{4) Students are able to think ﬂexlble;:,_r
ferfafes & & =m0 ﬂﬁm-ﬂ‘ﬁﬂmﬂﬁmmgﬁﬁﬂﬂﬁ%?
(1) feeme Fqiﬁuéﬁiﬂﬁhﬁmmrgaﬂmﬁ?ﬁﬁﬁmﬂﬂmﬁ

(2) forenef W wed S A &
(3) fawrdi fafv=r dedl A Sfvart feaa F1 3990 F5 §)
(4) famre wte A A HEH o | ;

SPACE FOR ROUGHWORK / 7% & & fem s

L9EVBE
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1 f "
- Varun's
h ag80; - - th of Arun's age exceeded = 1h of
W VEars i
value of x can be cletrfmumd by

§7. Arun iz throe yftanu[:hrlh.m\ arun. Eig

age by 6 years, If the present age ol Varun 15 1]4.r_;1|r-". UW“ the
solving the equation : N
= _] 5 g
(1} E['I +5) - ?{\—H]:u (2) —|:‘l."‘1""q|] —'r‘_i- —8) =t
) 00
5 Y 3 ;
- a : B (Y 3 SR
' =[x =5 =-=(x—B)=6 4 —{¥=28) — Z(*¥ =3
® zE=9)=FE=0) (4) =z o0 5
" = PO 4 e .
% ﬁma{:mqhaﬁﬂfﬁml

Y], AE A A A A ) s = T, SR 6 ciik (e ET 5

Hfey ww FH FAAE A x T T, T o FHA O FHE B E‘EW'-‘IWWW?

- 3 3, 5 =
(1) F+5- 3—[1' ~-8)=6 2 @ A=l 8)=6
5 3 5 3 .
(3) Flx- 5) — (@ —8)=6 (4) —ﬁ'ﬁ“‘*ﬁ”" — A 3) =6
(@
)

58. Which of the following statement is NOT m@@r‘ﬁm respect to Rubrics as a tool of assessment 7
(1) Rubrics consist of a clear ﬁ'rfﬂ[]!@ébﬂ l;:_rbm:lr students.
(2) Rubrics make evaluation more jective.
(3) Rubrics has a fixed scale. %
(4)  Rubrics has a list of characteristics describing performance for each point on the scale.

Frefafas § 4 % @ w97 FEed & U6 W6 5 59§ =0F F o 5w T 80

(1) wlw=w ¥ faenfug & fow vw == w2y osn 5 £

(2) wfae qeAEA 7 A sfETeE =T e

(3) wfaw =1 s ffrEa T @ § O

“ m%ﬂqﬁmmﬁqmmﬁww%aﬁnﬁﬂmﬁﬁ@mm

SPACE FOR ROUGH WORKI/ 1w &4 % for wvie
99,
0
(®))

Porn NI » 1
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The value of 52 x 3;2_ .
1y 15
62% %=4+ 241 =8

(1) 15
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cl/most appropriate aplions

grestions Iy selecting ihe corre
| e ————

Direclion : Ansoer the _.Ff-firrn'mg ! P T ﬁ'ﬁ?’-.”
dr.  ffafa v & 3w 23 & oy W /A IR
Discussion on socio-scientific issues In class he

R L 5
developing argumentalive skills “tflﬂdeT

L lpsin
bl. P?

(a)

(b
(c) encouraging citizen science H-:lﬂ_;I[ig:l
] Wt

(d) appreciating the role of soclety ulé__gglvulupment of science
(1) (<) and (d) (2 () (c)and (d)
(3 (b)and (o) ’fﬁfﬁ” (a), (b) and (c)
a1 & - A el @t it S e €

(a) ST H AET S0 1w w5 A

(b) o e oA w s e |

(c) AT fagm S nfatat e w7 H

(d) ﬁﬂﬁ#ﬁamﬁmaﬁﬂﬁﬁm@ﬁaﬁﬁmmﬁ

developing mulfiple ].115:51?'-'1'“""3-'%;"4_11_'1" ISHUE

(1) (o) (d) ) (s
| O O
@ (b)) e (). (b) )

62. [(A) Melal oxides are basic in mlme%

(B) Air expands on healing, O3

(C) Lime water turns milky on passing carbondioxide.
(D) Sodium hydroxide and hydrochloric acid neotralise each other.
IF observation 1s represented by O and inference by L, which of the following statements is correct ?

(1) O-GI-ABD (2) O-AB:I-B,C
(3) O-C.D;1-AB ¢l O-BGl-AD
() g-SiramTEs wenfn 5 4TORT ¥ 0y
(B) arg T B W e & o

(€) iy ST W (2T ) 1 g 8

(D) WfEan TwgERTE E O A T T s wa #
mmumﬁmmm@zmnﬂrﬁmﬁmﬂmmg;
(1) 0-C1-ABD 2) O-ABI-BC

(3) O-C.D;I-A. B (4) Q-H,‘-::I-A.D

LRV [T 24
| K
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3
+ 5 ¥ a i ¥ d —
An object floats with : th part of its volume outside the liquid when put in liquid A and %

i i i ts is trie !
of its volume outside the liquid when put in liquid B, Which af the following statemen

ity of liquid B is greate density of liquid A.
(1) Density of liquid B is greater than . .
(2) The densities of liquid cannot be compared on the basis of above information

(3) Density of liquid A is greater than density gfliguid B.
(4) Both liquids have same density. (O

ﬁﬁ_ﬂﬁﬁﬁhﬁmaﬁ%ﬂﬂﬂﬁ#ﬂfwm#: (R ) SPT 3% e e

i i
¥4 74 B H = 9 ¥ 79 9% 74 ﬁ:wmﬁm@% (= =) st 35 T i &) Pt

AFA A FII TR LT )

(1) 4B % %4, 29 A % 9 | HHw €| 80

(2) R T A S 35 S A e ren 6 = e
(3] TA A T TS, 79 B F WA H i 8

(4) = EE A A

th p.;\rt

Which of the following is/are true regarding scientific investigations 7
(a) Results are not influenced by proce e
(b) Social context may influence mhdu%i@s u'rnqg inveshigation,
(c) Data and evidence are Samé, N f.ﬂ X
e is no-universal scieni .
B mad© 0 @il @e@ad® @) ®and@)
Frfafian § & 9 )8 A S/ ST B § wE o/
(a)  ifome foeen fafes ER1 WAqTe el B € i
(b FaE s SR e He W e €
() RS S T (R G H
(dy =18 o ofdF (st Aai e A |
(1) (o) 3 () @ @3 @) (@D (4) (b) i (d)

Which of the following ﬂtﬂtﬂ'ﬂﬂ‘lﬁ is/are true ? s

(a)  Sell pollination takes place anly in bisexual flowers.
(b) Bisexual fllleEI_'ﬂ Eﬁﬂpﬂiﬁl’lﬂt& bl:lﬂ'lb}’ Eelf Alh crﬂﬂupomna&nn
(1) Both (a) and (b) are false, (2) B :

(3) () is true and (b) is false. 4)
foreifafia # A = /78 WA wEE?

(@) we e e qot () | g )

(b)  fefei qm (), @ wE S A s R e a #
(1) (w) o (b) B e ¥ () (a) @) e Wt 1
@) (o) Wl § 30T (b) TE T (4) () 119 ¥ 3t (b) W &

T 2 , «
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£ i harvesting ?
Which of the following statements is/are true regatding RainWater

(a) It conserves ground waler.
(b) Tt reduces local flooding. - o
(¢} It ereates drainage problems,

(d) Itean be used for irrigation of Erips.

g d 2 ), (€), (3) () (B (€
ﬁﬁmﬁaﬂm o [;};a:!amﬁ[*im{;ﬂ Wﬂ} L Fand Wl B/E?
(af FEy-TmwEwmEmE IS
(b) wmﬁnmmﬂmmm
() e e ) ws ) S £
(d) mwﬂnwﬁqﬁfﬁa‘tﬁ%%mmh
(1) {a) (b), (d) (2)  (b) () (d) (3 (a), (b). (c) (4) (a) () (d)

n the earth 7

Which of the following factors are responsible for generation and flow of winds on
(a) Uneven heating of the carth

(b) Uneven heating of the oceans

(c) Distance between earth and
(d) Gravitational force on the
0 @ad®) @) (@ and P

) (a) € ()

(a) wmmﬁam{mn ;.4 s 0 (8
A Wﬂm{m il :-:';I“";‘*'"-' w.|'t:r- | .

(G M#ﬁﬁiﬁaﬂg&;

@ 9 G | = SRR »

|-
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A gender responsive pe dagogy I science entails,
(a) Use of gender sensitive language .
[1-;1 Eng n?:np students in examining stereotyvpess

=,

() ‘--'Iﬂhn;,: gender based groups L)

(d) Using differentiated instruction and au@u&-hn‘iﬂtﬂ

(1} (&) and (b) (2) (e) aml:f.l}

(3) {a), (b) and (c) Hj (a), (¢ ]pnd (d)

Ferar  fom (STev) wiawiast fmmme sife a9 §

(a) WWH(W)WWH%W“’; 35,

b) EfeEs awnEl F) st/ wE F0 § freidd ® FA 7
() Tom (SfEw) sl woe == =l @3]

(dy TR fEw vg aree & v R

(1) (a) T (b) (2) (¢) #(d)

@) (a), (b) 3 (o) (4) (@) (c) 3 (d)

. Which of the following statement is not true regarding conduction of heat 7
(1) Conduction does not take place in gases.
2)  All materials do not allow heat to flow thm!.&:[’i"lhm in same way.
(3) Conduction is faster in solids than liguids.
(4) Two objects should be in contact with each for heat How.

ﬁmhﬁﬁ‘ﬂﬂﬁa?’mmaﬁnm-ﬁ—:mﬁmiﬁﬁ‘ﬂﬁ g7

(1) rai o s A ae g

(2) witwEd (FmiTE) Trﬁmﬂﬂq@ﬁng%mﬁﬁmﬁmﬁﬂﬁf%ﬁir
(3) mmmnmﬂaanqwmﬁmil

(4) Fu0 % vEE & fau @ ﬁﬁﬁﬁﬂﬁ—{q’tﬁw@jﬁmaﬁm

. The purpose of divergent questions an sEence classroom can be :
(a) to promote critical rhinl-;ing
(b) to discern between sl ul.IL‘nj.a'I:
(¢) to develop communication
{tij to identify gifted students
(e} toidentify 1!!-. watill -.un:ePhum

o appreciate subjectivity in science r""-
:::.;]l :rd‘] E_EI (e) and IT: i A2) {b}, m} and ()
(8) (a), (b); (d) and (€) @ (@ @ and (f)
o = H STaE! WY 1 Sy B Hedl § ;
(a) Wtﬁmﬂﬁ;%ﬂﬂ?ﬂﬂﬂ( ) FH W
(b) faefuid & @9 W& F6 & o
(c) o (memm) fawien T o0
(d)  wfpsmened) el w1 TEEE w w=; D

(¢) Tefogs AAUONSl H1 TEHH HA H

() faam § =i e 5

(1) (a), (e}, (&) T (D) (2) (), (d), (o) 3 ()
@) (o) (), (d) 3 () (4) (a) (b); () 3T (6)

ol [T L 27
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Which of the following characterizes human circulatory system 7

(1) closed, single circulation (2)  closed, double circulation
(3) open, single circulation open, double circulation
femyfitian o & =1 e SR T Fm ?

(1) ¥, e Han @10 Fm, e

() form, T w r%ﬁqa. et

Which of the following is true regardmg%hhc laws ?

(1) They can’t be challenged.

(2) They provide reasoning for physical phenomena.

(3) They describe relationships between observable phenomena,
(4) They are formed from scientific theories.
Fretfeafis # A dafres frail % am A S moaE@ 22

(1) 3 shelt 7eT &t = s & ‘-'ﬂ

”‘ ey A il

F

ﬂlgln 1|1!lI =Rl L
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75. Assertion (A) : The ceilings of cinema halls and concert halls are generally curved.
Reason (R) : Sound waves after striking a curved surface get reflected in all directions.
(1) (A) is true but (R) is false.
(2) Both (A) and (R) are false. -

(3) Both (A) and (R) are true and (R) is .-_-urr:gy_l!;t-xp]mmliuﬂ for (A).

- g

(4) Both (A) and (R) are true but (R) is not n?tnect explanation for (A).
AR (A) : e afe i ST e AR A A
7 (R) T b e R ZAT 5 AR i A el H wrata € )
(1) (A) &l & 9 (R) To0 2|
(2)  (A) 3 (R) ZF e &
(3)  (A) 3T (R) 5T =8 F 797 (R), (A) aﬁnﬁﬁmﬁn%t
(4)  (A) 3 (R) 3 =@ F 9= (R), (A) ﬁ?@%ﬁﬂﬁ 2
")
& <t
76.  Which of the following is not caused Bue to to exgessive use of fertilizer and pesticides ?

(1) Eutrophication {2) %f;\;rlng]uﬁmhnn

(3) 5Soil erosion (4) Nitrification
A1 UH FHIZAE T S WA F wAW AT {6 S W e e ?
(1) FmE 2) = @A
(3) HE YA (4) AR
f*u-.,
77. An odometer in a car measures :
(1) average speed of the car (2) @Eﬂhﬂn of the car
(3) distance travelled by the car (4) D§Rntaneous speed of the car
U W H s A € %
(1) wRE Sm ) (2) W = ()
(3) W g A E g (4)  F H AT (i

P=IL OO e 29
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| o fotlowing table:
the basis of information given in the follo B

78. Identify the mirrors on R pdald:
Mirror Nature of image '}I.:._E of image
A virtual and erect bﬁm,i as object
B teal and inverted gamie as object
C real and inverted f;:‘&img-_‘d
D virtual and erect :};.:]_E‘IH']‘II‘:'-]'H'LT

(1) A - Plane mirtor, B - Concave, Es*Concave, D - Convex
(2) A - Concave, B - Plane, C - Conve&, D - Concave

(3) A - Plane, B - Convex, C - Concave, D - Convex

(4) A - Convex, B - Concave, C - Convex, D - Concave

Forefertam Jwel o 2 gea & SR W A F e Wi,
afoy gfafera 3 vgfa | sfafeom 1 s=n
A
B
C
D

TrEta® S gty Eﬂézmrrﬂm
. K
ApeTlae ST Wi Cg%ra@a
HTWTHT 1T Feui] ¢ T H
(1) A -5, B - 50, C - Ao D 7@a

(2) A-3ETe, B- 8§90, C - W

(3) A -TWE, B- SEqE, C - D s

(4) A - sEqE, B - AF4, C - - G
~J

79, Three identical holes are punched at different levels (heights) in a i is filled
‘ : . ghts) in a plastic bottle.
with water, Which of the following statements is true ragartﬁl.:g the flow n.gh:;th{::tf?r:fm the

holes ?
(a) Water from lowest hole comes i
(b Water framiighést Dole come St s et s
(¢)  Water from all holes comes out with equal force
(d)  Water from lowest hole falls at maximum distance
(e} Water from highest hole falls imum distance
ﬁ:.} t{;ﬂ;m;d &{um all hqlza falls at istance
and (e) (2) (a) and () (c) and (f) 4 fa
wamaﬁa&aaﬁﬁafﬁqmﬂ -Jmm(m}ﬁa%aﬁqtn::u i\i[rea]rﬁwﬁﬁ
| Frefafe § # wE W s W % (WAWE) I8 = wd ) | R
() T 32 A weit firwam Fe 8w A s j
(b) 3% B2 F Tl siftrrmm 7w Ear smm

(d) ﬁwmhﬂﬁﬂm@%
() = B2 R 9t w8 v v

(0 w0 & a7 g i

MO  @@E@ @ gy (8) 3iR ()

P-I0 30
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The colour of flame depends on :
(a) Nature of combustible substance

(b} Oxygen supply —

(¢} Temperature of the surroundings f_f-t:.}

(1) (a) and (b) (2) (a)and (c) (%) Ct&donly (4) (b) only
e = Fie v 8 i

(a) =T wE v T 0

(b) HiFHETTH a:ﬂ'{ﬁ i %

(c) -9 T AIEH T o)

(1) (a) 3 (b) (2) () () (@) & (a) (4) T (b)

A class VI teacher plans to identify alternate conceptions of students in the topic “Adaptations in
plants and animals’, Which of the following sets of strategics is best suited for this purpose ?

(1) DPiagnostic questionnaire, interview, drawings
(2) Project, checklist, drawings

(3) Drawings, checklist, interview r..“
(#) Portfolio, group discussion, dingnostic ques)
w1 VI =1 U fners ' aredl s i’ﬁ—ﬁ'ﬁaﬁﬁo ,
TEAH e 1 A= S 2| 59 e § g

%7 \@“\

ﬁﬂﬁﬂ-ﬁﬁﬁﬁaﬂ-ﬁmmmmﬂaﬂ
THiToEl & "= ¥ RE-1 1 39

N e
(1) e v, e, S () a0

(2)  WrETSE (), S -, A ()
(3) sreae (Fasi), Sia-gE), ST
(4) WEEfEE (uE), Jnifen g, T ReEet

Sunita drops a piece of potassium metal in a beaker of cold water and notes down the observations.
Which of the following observation is not correct 7

(1) Hydrogen gas is evolved, P

(2) Pop sound is heard m

(3) Potassium reacts violently with water, m

(4) It is endothermic reaction.

WW%Wﬁﬁﬁmﬁmwtﬁm?%ﬂmmmﬁmm
freiferfiam & & & @ SaciH Wl 6§ 7 D

(1) wwETm e e o E 58

(2) e vafs gk w B )

(3) irefwas W % WA wEE w9 W s w R

(4) % S SAfafE

S TH T 3 K
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; dded :
various indicators are @
83. Following table depicts colour ch.angatﬁclds and bases when
Indicator Colour change Lm_d.l Colour :h.n:.lge in b_ues_.
Turmeric No chan A
China rose Dark Pink B
Phenolphthalein C 83.) Pink
~ Methyl orange D - Pink
A, B, C, D respectively are :

(1) reddish brown, pink, orange, colourless
(2) rﬂﬂwmzmpﬁakmnlnuﬂm

@

Erorlg

e dkmmﬂmﬁmmwm

'»'-"*.

e i
'='ll=l-"'fﬂ
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§5. Which of the following illustrates 'science as inquiry” 7
(1)  List hive uses of coconut tree J
(2) Observe the types of venation in various quer_:? .
(3) Classify the given plants into herbs, shrubs Jifd trees
(4) Explore factors which affect the rate of g-.w:i:_;ﬂﬁtinn in gram seeds
Wﬁﬁﬂﬁﬁaﬁqm'ﬁa—wﬁmmﬁ'ﬁtﬁfﬂﬁm%?
(1) T F 9 (g8) %ﬁamﬁmqﬁamﬁ;‘f}
(2 Tafvrer ol 3 orafera & sl o srrciE e
() fer T e (o) 7w, e e 5§ e
(4) = F i H aiHr F g wfas FE S HRE B ST B

86. Read the following statements and choose the correct option :

51 - Photosynthesis is endothermic reaction.

52 - Respiration s exothermic reaction. B:"""‘-

(1) Sl is true and S2 is false. () @ se and S2 is true.

(3) Both 51 and S2 are true. %},.0 Bnﬁﬁ and S2 are false.
- . =l

ﬁﬁqwﬁmuﬁqﬁnaﬁmw@@ﬁaﬁmm

S1 - TETE Hyerm St stafEE € ap

&2 - yaE S At € =0

(1) 51 @ & Sfivsz T € [2) S1 7 ¢ #s2 wét ¥

(3) Sl 3T S2 <l el 8 (4) 51 3T 52 S TEd F

87. Which of the following activities is best suited to develop inductive reasoning ?
(1)  verify laws of reflection experimentally
(2)  solve numerical problems based on law of feflection
(3) asking students to state laws of reflection L2

(4) asking students to measure angle of refleckila for various cases of angle of incidence in a
plane mirror

freifefiam B F-H fiEy ARES - e IO # 2
(1) wmEE B9 A SO % g

(2) oA & fra W s den fave (Heyes) aneed F e e
(3) fearfal %1 wueda % Fro war # fer e
(4) Terenfiget = e s A - A ffi s i f s me ¥ fa e

PIL (I 33 L
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number of B1s17. The chemical formula of the

The atomic number of A is 13 and II]I\; ;Etcmﬂc
compound formed from A and B could be @
i (4) ABy

(1) AB, (2) AB (3) AsB
A OO A 13 T B W & aaﬂtﬂﬁﬁﬁﬂﬁﬁﬁﬁﬁrﬁﬂhﬁﬁﬂlmt
(1) ABy (2) AB 000 AP (4) AB;

(Y

. Read the statements given below and ch the correct aption : |

Assertion (A) ¢ It is recommended that afid should be adde to water for diluting the acid aod
not vice-versa.

Resson (R) - Diution of cid s ight) ot recton

(1)  (A) is true but (R) is fulse.

(2) Bﬂﬂ" (A) and (R) are false,

I_"_‘_

o w %mmz,
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IMPORTANT | FEwayvl :

Candidates leave to do questions 31 (o 90 EFTHER from Part - 11 (Mathematics and Science) OR from

Part - [Tl (Social Studies / Social Seience).
qdrgnfefal & WP 31 % 90 AT a3 9r - 11 ( 70T 7 fisrT ) @ M - 11 ( @R areEae / A
famra) 8 &I 81

PART - 11l / 9T - 1
SOCIAL STUDIES / SOCIAL SCIENGE - W& 344+ | arvifae fasm

Direction : Answer the following questions by @mg the correct/most appropriate options,
s - el W%mﬁ%mﬂﬂﬁmﬁmﬂgﬁq:

31. The Government has passed laws th de it mandatory for organisations with more than
womern employees to provi eche facilities.

(1) 25 @) a0 4 3y 10 (4) 15

TR 3 U8 F7 e fro fms arerEre) (3= g Al e e weEat
i HeEm _H Hfw # ""-«.l

(1) 25 (2) 30 (3] °10 (4) 15

&

$)
2

32, The Indian National Congress in the mﬁwnra raised a number of economic issues against the
s / Q
British. Choose the correct option.

() The Congress declared that the Bftish rule had led to poverty and famines.
(i) It demanded reduction of revenufAd cut in'military expenditure.

(i) Congress demanded more funds Eﬂigaﬁm

(iv) It raised the voice agamnst anterteey‘gpnt o

(1)  Only (i), (if) and (iii) ave correct C@)  Only (i), (i) and (iv} are correct

(3) Only (i) and (i) are correct (4)° Only (i) and (iti) are correct

sy =l A s T i A F e ag wi afds 52 =) TR 39 F G %1 |
(i) mﬁﬂmmmﬁﬁmﬂﬂﬁﬁﬁ@tmﬂﬁﬂﬂiﬁmmﬂgﬂm

(i) o = &, e w5 ] | A A |

(iif) e fead o ferg sifm s :

(iv) 8 " T & feres s

(1) st (i), (i) v (i) w06 T COED e (i), (i) v (i) Wt )

(3) () v (i) W & Tﬂl A (i) A (ki) W €

ST T 3 K
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33.

34.

i tion :
Match the [ollowing columns and choose the 'W'Pm]m-'te M

Sphere of the Earth Feature . s
(a) Lithosphere (i) Plant and Animal Kingdam

() Hydrosphere () Made up of rocks and mirierals
() Atmosphers (iii) Various qnurfeﬂ"nf water

(d) Biosphere (iv) Thin layer of 'Jiﬂ'}

(1) (a)-(iid), (b)=(iv). (c)-{i). (d)-(ii) ""I'I

(2)  (a)-(iv). (b)-(1), (c)-{ii), (d)-(iii) oy

(3)  (a)=(i), (b)=(id), (c)-(1ii), (cl)-(iv) tg.
(4)  {)-(it), (b)-(iti), (c)-(iv), (d)(1) CvJ
Freifertian 3 & o sifed] @ fem wifw . OO
et % HEe S e
(a) TUETHER () WY E HE-g
(b) s (i) =z vE b R = e
() argHEE (i) e % fafse
(d) SEHEe (iv) A F GaE

(1) @G, G)-v) -0 @) & =
(2} (@)-(v), (b)), (©)-Gi), (d)-(ii)) o
®) (@0, O, @) @ 3
@) (@)-), (b)-(iid), (©)-Giv), (d)-8° ~
o0
Which of the following is true about Ashoka’s Wi 7
(a) Itdid notinvolve worship of a god. O
(b} It did not involve performance of a sacrifice 3
(c)  The ideas of dliamma were inspired by the teachings of Buddha.
(d) Ashoka appointed Buddhist monks to teach people about dhanma,
Choose the correct option :
(1) Only (b) and (c) 3 a),
(3) Al (a), (b), (c) and (d) ) %1;: i ﬂﬂ[:f 5
Fr=fafaa & & # w we awis % wﬂ:ﬁw%%;
(a) v el 2aa it o ) sEerwD 6@ b
(b) v Tl =it #iwre ¥ aEvasm a6 Ul

(c) 99 T 4% % 393 & 9w &

(d) =i mﬂﬂﬁlﬂiﬁ#fﬁqmﬁﬂﬁﬂ
wi fawsy =1 7o w1 w1 Pt =1

(1) e (b) 741 (c) () W9 (a), (b) o (o
(3)  (a), (b), (c) o1 (d) H¥it (4) m[ﬂ}“ﬂl{h} }

ST i
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35. Below are bwo statements (A) and (B) in the context of leather workers in 19th contury,
[A) l"hmng the First World War there was a |1u_5._;l;' demand for shoes for the arpmoes,

(B} The poor people from ordinafytastes saw this as an opportunity and were ready to supply

shoes for the army, (-T{ \
Choose the correct option ( Y,
(1) (A)is true but (B) is false () (2)  (A) is false but (B) is true
(3) Both (A) and (B) are true . (4) Both (A) and (B) are false

4 2 A (A) 3 (B) 195 T 2 T T A 6 e 0 #
(A) e T 7@ 3 S e 5 A s @) e win e 8 At
(B) T i o R A v v s S o e 3 T

T Taed & w0 |
(1) (A) T & 5= (B) Tom # (2)  (A) e ® oA (B) T E
®) WIAETAEAE o) 1A) 3 @) 2 TR E
o o
36, The Mughsl revenue system witlc;ﬂs,c:—g;romedule of revenue rates for individual crop was
called : G
(1) Zat (2) Iqta -ﬁ‘\; (3) Jagir (4) Zabt :
wmmﬁaﬁam#%’mzﬁﬂmiﬁ‘tmﬁﬂﬁ@ﬁﬁﬁ:
(1) @ T =l @ @) =

37.  The rocks that were formed 300 million years after the earth was formed, is :
(1) located in Eastern Europe
(2) located in the Himalayvan region
(3} considered as Fﬂmgﬁrﬂh&}“ world

(4) located in Western Hhsh'alhu )
et % #e 7 e, s geedl & i Gah wE W veem e, £

(1) el gi # feam § o)
(2) Temery dra i fewa o)
Pt |

(3) favs =t diam o6 wE S §
(4) iyt smefem # fem ®

DAL AN a7 K
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their examples in Column - 11 and choose the

38. Match the following concepts in Column - T with

appropriate option :
Column - 1 Column. - 1
Concepts E“W K
(a) Discrimination (1) Ditl al pay for ;:imjﬂwcl
s Inequality il  Villagers are superstiaous , :
Ef]} ST;!::\::E EI} Wo ot allowed to be hired since she is startinga family
(d) 'I"‘n:.'judi-fe (iv) Girls'ate’good at cooking
(1) (a)=(iv). (b)-{iii), (c)~(i), (d}-(ii)
(2) (@), (B)-(), (c)-(iv), (d)-(ii) Q0
(3) {a;-iiiil— (b)-{0), (c)-{ii). (d)-(iv) Q2
(4)  (a)-(iv), (b)-(ii), (c)-(i), ()-(iii) :
T - 1 %7 Freff Heena 3w - 11 ey e S SeE § ate Hie S I
f :
= -1 =Y - 10
Hereaamn SATEAUT
(a) EVA ()  TEE 5 few sEm g
(b) ST i) e S
(c) Hfeataar (i) mﬂ?@ﬁwﬁﬂﬁ?ﬁﬁ-ﬁﬂhﬁﬂﬁmfﬁﬁﬁ%'
Mt &@
(d) TEERO (iv) a@ﬁ?mﬁ%ﬁmm M H =t §
(1) (@)-(iv), (b)-(iii), (c)-(), (d)-(ii) Em
(2)  (a)-(idi), (B)-(i), (c)-(iv), (d)-(ii) Pt

() (@), (b)-{1), (c)-(i), (dj-(iv)
(4) (@), (b)-(if), (c)-(i), (c)-(iii)

39.  Which of the following is/are correctly matched ?

Crop Required Climatic Condition
(a) Coffee - Cool and dry climate
{(b) Tea - Warm climate and high rai
Choose the correct option : i hlﬁ\:ﬂmfﬂﬂ
(1)  Both (a) and (b} 2) Cgither
(3) Only (a H (Ouly {E;i'-:ﬂ] g
fia ﬂ’ﬁaﬂqmﬁﬁh—ﬁwﬁﬂ'ﬁﬁﬁm%ﬁ?ﬁ"
AR HravgE AT i)
() FH - FE shoges ey ()
(b) =13 - T SEEy $R 7= -
Aft fawmen F1 a9m Fif | )
(1) (a) 7T (b) A (2) aﬁr{agamqﬁm
(3) 9 (a) (4) A ()

P-00 (AN 49
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The category “ershwhile princely states’ was applicable :

(1) in the post-1956 when they were no longer retained as administrative units.
{2} tonone as no such category existed in India. '

(3) at the time of Independence arblintl 1947-48 only

(4) between 194748 and 1956 when .ti':iuy were recognised as administrative anits
rorchicicnal g v e 'r

(1) 1956 % T w3 wwrar gaha w1 i 9 o

(2) ﬁﬁ%*ﬂqﬁmwﬂﬁﬁqﬁgmm?ﬂﬁu

(3) ﬁmrmmﬁmﬂm?-mmmwmr

(4) Imfdﬂaﬂtwﬁﬁ‘%mﬂﬁﬁﬁwﬂmﬁiﬁﬁﬁﬁ;ﬂ-ﬁwﬁiﬁl

Match the fDIIIJWing in the comtoxt of people and objects in ancient times and choose the appropriate

option. ,
3 <o
(a) Barygaza (i) Sta@_‘p.ﬁgd red-glazed pottery
(b) Shrenis (i) Blaruth c,o‘(\
(c) Arretine ware (i) OO farmers

(d) Grihapatis (1v) of crafts persons and merchants

(1) (@)-{iv), (B)-(iid), (€)-(i), (d)-(ii) E;‘n{,

) (@)1, (B)=Gi), (e}-(iv), (d)-Giif) =

(3)  (a)-(i), (b)-(iv), (€)-(3), (d)-(ii))

(4)  (a)-(ii), (b)-(iv), (c}-(i), (d)=(1)

st # Sl & awme % w1 et w5 e S o e e w5 e )
A B

(a) AfeEn (i) HE A S-SR

(b) it (i) e

(c) WA WA (i) ‘ﬂ%é‘ﬁ

(d) TR (iv) Tt g s &
(1) (a)-(iv), (b)-(iid), (c)-(i). (d)-(i) %

@) (@), (b)), (c)-v), (d)-Gii)

(3)  (a)-(ii), (b)-{iv), (e)=(i); (cd)-(iii)

(4)  (a)-(ii), (b)-(iv), ()-{iif), ()t

L0 WO MO 39
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of the following; choices.

Which one
42.  Archaeologists play an iniportant role in deciphering history.
is incorrect about their natire of work ?

(1] Look for bones of animals, birds and fish

(2) Examine the written records

(3) Study the remains of buildings, pﬂnlmgq:ﬂ sculpture
(4)  Explore and excovate tools, weapons, pots, pan, etc.
sfererm 1 efafa w1 s frer/ fe o s s Fot &1 Frefefn § 8 39
=79 I TR = = w7 )

(1) e, afi, ol =t wfyl de %

(2) ferfias wpdt (FEl) 5190

(3) v, ot (T e i & e w5 e

(4) st s, @, 5, anfﬁaftmﬁﬂﬁ;ﬁ*g\?ﬁ—ﬂq 3 G

time of opening of the Central Gn lmu!f:d at 80" East Longitude near Chennai

43. The opening time of Central Gm- Gf India is 900 a.m. IST, what will be the local |
and 92°45' East Longitude near Itumgﬂr,

(1) 08:50 a:m. and 09:41 a.m. respectively c'f','l
(2} 0941 am and 08:50 am. respectively m
(3) 0910 amy and 08:19 am. respectively

J (4)  08:19 aim. and 09:10 a.m. respectively

(1) wwm w#uﬂﬁuuﬂmwt_mi%
(2) FEN: A F 09:41 7 A1 GE 0850 991
(3) F HEE F 09:10 7 A9 HaE F 0&1?%
(4)  HEI; HAE F 0819 T A9 GHE F 0910 %
/ St LT T 40
—
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Women were taught at home in nineteenth century colonial India because :

(a) they could study as well as do domestic duties,

(b)  people believed that going out in public places would corrupt them.

(c] ]."'L"DP]E wanted to hide the fact of their education from relatives and friends.
Choose the correct option :

(1) (b and(c) (2)  (a), (b) and (c) (3)[*a) and (b} (#) (a) and ()
seteel e % shufaters s o erefaed @ s o0 S e o i -

(@) I FTe RS Em s O

(b) T HEG 9 T et e w8 e

() I S A e s et e 36 e g A

ad fawe F1 999 i

(1) (b)) @) @@ GC@HHEmG @ @M

Which one of the following is not correct for grama-bhojaka ?

(1) The king often used him to collect taxes from the village.

(2) He did not function as a Judge and policeman,

(3)  Usually, men from the same family held Lo position for generations.
(4) He had slaves and hired workers to nﬂﬂvahvthﬂ land.

Freifesfm o & #9 a 7- tmﬁ:mqﬁ‘aﬁtm

(1) ﬂﬁmmﬂ@ammﬁmﬁﬁ

(2) @ = st g = 6w A

(3) 3w U € VAR w0 5 9e W el T a9

(4) Eﬂﬁm‘hmﬁ#ﬁmmwmmag

Below are two statements (A) and (B) in the context of Shri Narayan Gun.
(A) He advocated eguality of all within a single sect or caste.
(B) He inspired all of them to have faith in all gurus.

Choose the correct option :
(1) (A) is true but (B) is false (2)  (A) is false but (B) is true

(3) Both (A) and (B) are true (4) BﬂM]mtd[B} are false
413 2 @ (A) S (B) 4T TRET 8 F W A F

(A) FAF SR WA HEEa W o #A@E 00

(B) E@ﬁﬂtﬂﬂﬁﬂﬁﬁﬂﬂﬁﬁmmﬁtmﬁ'ﬁm.

Wi fawes w1 =T w5

(1) (A) @ & sifE (8) e (2) {M%iﬂrﬁﬁm}ﬂﬁt
() (A) s () 2w E (4)  (A)EIRy(B) vt e &

A0 (U 11
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47.  Match the following pairs and choose the appropriate option

Rocks Origin/formation

(8) lgneous Rocks (i)  Change under F;ETIE*': heat and pressure

(b) Sedimentary Rocks (il) Malten -"v‘lﬂt;ll;l'é-?l- .

(c) Metamorphic Rocks (i) Deposition h;.: wind and water

Choose the correct option ; o

(1) fa)-(id), (B)-(3), (c)-(ii)

(2) (a)-(1), (b)-(ii), (c)-(ii)

() (a)=(i), (B)-(id), (c)-(iii)

(4)  (a)=(iD), (by-(iii), (c)-(i)

Frefesfiae 2pett = firers wifm sfic svge fach i g =i

il

e B

o
(a) R Ha () SRR T O ot § €
N 1
(b) ST de ) SPmamm o
»y
(c) =R e (iif) ¥ 3R I e 7 UE TH | g wE W TR, e w5t
= &
HE fawed # =99H H1

(1) (a)-(id), (b)-(i) (c)-(id)
(2)  (a)(i), (b)-(iii), (€)-{i)

(C)
(3)  (a)-(i), (b)-(if), {c)-(ii) oo
4) (@), (b)-(iii), (©)-6) W
@) (@), (b &

B
48.  Which layer of the atmosphere has very thin IaE@;:i'*nr air 7
(1) Stratosphere.  (2) Mesosphere ii}a\b*EThErmus[:rhere (4) Exosphere
argEed w1 e Wi 51 T 95 g 9w e

(1) wwamHEw  (2) WEESH (3) "WAgHsE (4) whedEw

TR T T LTI o
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49. A population pyramid wih big base and skinny top shows
(a) High birth tales -

(b)  High death rates jn hig he
her age group M

(c}] Relatively large number of
) young populatigy

(d) Large number of deaths of infants )
Choose the correct ophon Ti"
(1)  Only (b), (c) and () (2) ), (c) and (d)

(3)  Only (a) and (b) (4) ), (b)-and (c)
U A AR ATt S e st foe g

(n) ST WH

(b) TE Y A H z= ey

(c) T ¥ 8 wfess gay s

(d) Pt # 55 7 s 2y

wE fEwe W =599 =51 Rieg
(1) & (b), (c) 740 (d) (2) oo‘ﬁq{;—%a}. (c) 7 (d)
(3) AT (a) T (B) ‘@ﬁ’ AR, () T
2y Q0
50. E'_'u:;midr'r the following sentences (A) and (B) ﬂﬁ motions of the Earth and choose the correct
option ;

{A) Rotation is the movement of the earth on i@is.

(B) The axis of the Earth which is an imaginary line, makes an angle of 333  with its orbital
plane.

Choose the correct oplion

(1) Both (A) and (B) are correct (2) Both (A) and {B) are incorrect

(3) Only (A) is correct (4) Ofty=(B) is correct

gt #rnﬁﬁr-anfrﬁmnqﬁmm[ﬁmm Fera 5% T Y P T

(A) et @l S 33 T I TN | e
(B) EEﬁFﬁTﬂﬂ.qﬁ;ﬁﬁﬂﬁﬁhtﬁlm?@ﬂﬁ L7, & F A

A fage w0 = D
(1) 2l (A) 791 (B) T E (2) EA) T (B) T B
(3) aE (A) FE E (4) = (B) FEE
a3 K

S P T TN
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51,

52

53.

ment in templé

. . vielo
Which of the following stutements is/are true about technological de =

construction from the twelfth century 7
(a) The weight of the superstructure was carried by the shikhara. 3
Sandstone mixed with stone chips was increasingly used in construc

b
'l-l.'l'lmr*:-r? the carrect option - O _ 4
b
ﬁrirfﬁrfm'if;#mmmﬂaﬁﬁm‘ o 3 o fave P A 3 frry 3 5
LI o
(a) sieTsT =51y firel o =@ e = J—ll}
(b) i o s 5 W & S gel Atam T & e B
|t faweq = =579 w1 | ~J
(1) () 3 (b) &1 welt & (@) () 3h ) Fr TS
(3) = () T ¥ (4) e (b) W ®
Who among the following edited newspaper Kesari which became one of the stromgest critics of
the British rule 7
(1) Mahatma Gandhi (2) ¢ d=la Lajpat Rai
(3) Jyotirao Phule (4) gangadhar Tilak
Frefofiad 5 & 31 Fwt s svaam, o faps Wmmmmwmﬂmﬂﬂ
(1) e @\? (Y T T
(3) ST 68 S Sy e
D

Which of the following statements are corrgiEbout Amazon basin ?
(a)  This region is characterized by hot ﬂndﬂgt climate throughout the year.

(b)  People practice ‘slash and burmn’ agriculture.

(¢} People mainly grow paddy.
(d) Aircrafts and helicopters are also used for reaching various places in the basin.

Choose the correct opton :

(1) Only (a), (c) and (d) {2) Only {a), (b) and (d)

(3)  Only (a), (b) and (c) (4)  Only (b), (¢) and (d)

S Wi o A et # S FH S s 0d 12

() gt e gel et o w weEg g OO

(b) W EM F A FH AT E A

(c) &M AR U I ¥ o

(d) iﬁﬂfﬂmﬁw#ﬁaﬁ#@ﬁﬁn@mhﬁmmﬁmﬁmmm

ad e 1 w9 w1 o
(1) (o), (c) 4 () (2) =3 (@), (b) 41 ()
() A (a), (b) A9 (c) (4) % (b), (0) T (d)

P AT w“

——————— e
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54, Ina physical ma

et P ol India if you have o lociate the Deccan Plateau, it will be represemiteel by the
(1) /Breen 2)  yellow (3) orange (4) brown
Wi & s Tt f o HIH) 2 T v awsEE € A, e e R gt w2
1) (2) i pE}nbﬁ @
)
55. Choose the ~

MEAsures to control soil erosion and@Epletion from the following,

(a) Mulching (b) Og,jﬁmjmg

(€) Terrace farming (d) Ilet kropping

Choose the correct oplion ;

(1) (@), (b), (d) only (2)  (b), (€), (d) only
(3)  (ah (b, () only @) (@), (0, (@) only
Freferfem & 4 721 e ol ﬁvmaﬁvgﬁﬁgawﬁimﬁmwaﬂmn
(a) WTH == 6{\\\@ (®) 5&%1:
(c) At wri (d) vﬂ%ﬁ e I
A e W wE &)
O
(1) %9 (a), (b). (d) 2) FEEO), () ()
(3) A (a), (b), © (4 F (), (), (@)

56. Who coined the phrase, ‘Unity in Diversity” 7

(1) 8 Gakhash; Chandsa bose (2) ﬁf}'dnr Vallabh Bhai Patel
(3) Pt Jawaharlal Nehru () Nﬁgﬂdﬂﬂ e 3 ot
(1) FmER A @) m;ﬁ‘wqréqzaq
(3 i ST T (@) A T

P-1 (G
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57. Consider the statements (A) and (B) ab

(A)
(B)

(1)
(3)

» y WET
nit Parpmounicy and choose the correct ans

The Company claimed that its authority was not supreme,
ol 5 Atenmy (0 anmexs
In'order to protect Company migrﬂs it was justified n annexing or threatentng
any Indian Kingdom O
: G . ]
(A) i true but (B) {5 false f:(‘a (A) is false but (B) is frue
-

Both (A) and (B) are true Jp4)  Both (A) and (B) are false

[-‘L]m[ﬂlmmnﬁ-ﬂmwﬂ#%ﬁmﬁn A T@t Fa AT R

(A)

(B)

(1)
(3)

91 A 9 oy T zwa stfmm T T a0

9% fiedt =7 1 % fory 7w W o W S w0 W S AR w1 AT 3
HAMHR F9+1 3T 977 T A7

(A) 51 € S (B) e &) (2)  (A) e & Sifis (B) TR R
(A) 3 (B) =141 el & | () (A) S B) F e
0 o

)
58, Consider the following shtlemenmﬁﬁdakh and choose the correct option.
N
() Several rivers flow through Léphkh

€D

(b)  Due to high altitude, the ':'_T.'Lmateﬁl?.n‘nmﬂ}' cold.

() Despite being in the rain shadow of Himalayas, there is high rainfall
(d) This area experiences freezing winds and burning hot sunlight.

(1) Only (b), (c) and (d) are correct (2]  Only (a), (b) and (d) are correct
(3) Only (a) and (b) are corract (4)  Only (a), (b) and (c) are correct
ETE F A A e e e ferwrg @i w6 ey e S
(a) TERE H T TE0 5 #Eﬁﬂa*r#%

(b) wfeER Famd B % W9 AR W AGEE S 5 2

(c) ﬁwiq&mmﬂﬁ#%ﬂﬁmﬂmmﬁh

(d) Wﬁii‘ﬁﬁﬁﬁﬂf@ﬁﬂﬁﬁﬁﬁwﬂ FH A FA B

(1) & (b), (c) 7o (d) 7R &) (2) 5 (a), (b) 79 (d) =& ¥

(3) %A (a) 79 (b) e E (4) F (a), (b) 791 (c) FE ¥

P-L0 R 46
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59, Consider the two gi
- BIVEN statements (A) and (R) and ¢hogse the appropriate option :

- 1-| I i ] x4
::; : 'Ti::‘i}:.'t[r‘:zuﬁ Y€t Of Greenwich gl be behind of Greenwich time
o et Crony st it WINEINA s Tiaes anily in o t
1) (A) is trug i (R) is & y eastern side,

(2) Both (A) and [R} are false

3 Be i
:4: H‘;:i ::: ;:: (R) are true angd { the correct explanation of (A)
(R) are true but {L ot the correct explanation of (A)

e T AT (A) T (R) w1 Ferre HHl fasreq w1 5 Fifm
(A) : 34 T 5 femm f 8 7 2 it B dre @m

(R) : J% 9o & wfewm 7 i wramer o A 34 g faen & s @ £
(1) (A) 5E 2 71 (R) 7orq & |

(2)  EFI(A) 7o (R) o E
(3) ?Ttﬁlﬁmiﬂiﬂ“@r%ﬂmm},wmmmﬂm%:
(4) S (A) 7 (R) T & foieg (R), (A) 7 50t Evedtasm =8 &

60. Watan Jagirs were given by Akbar to Whikh of the following chiefs ?

(1) Sisodiya Rajputs - Indiz T
() S_ikhﬂ %QQMH.H;;
mﬂ%ﬁﬁhmﬁﬁmmm?

.{l. I
(1) foEfEr e S v gEeERE
(3) Feerf CI} e

61. A well-designed portfolio assessment in social sciences should be -
(a) purposeful and systematic
(b)  reflect regular assignments and ackivities of student
() focus mainly on the preparation of report card
(d) accumulation of student's work over a long period of time

Choose the correct option :

(1) (&), (c) and (d) (a), (b) and (d)
®) (@), (b) and () % (b), (¢) and (d)
Wmﬁﬁﬂﬂm%ﬁmwmﬁ :
(a) wEREAl | Spafe w ) D

(b) Fareneft 3 Frafir raf 2 wfaffrmE Ut e |

(c) ﬂmﬂmﬂﬁm“mﬁ@ﬁﬂ.l

(d)  Forenedf 3 sl a4 A w0 S <

HEt faeq &1 =7 L |
(1) (a), (c) 7% (d) (2) (@) (b) T (d)
(3)  (a), (b) T (c) (4)  (b), () e (d)

T T T 2
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62. Project method in Social Sciences involves Py

Ee

(a)  Activity (b) pDiscussion
(c) Experiment (d) (Marration

g
Choose the correct oplion L *'I

(1)  (a) and (b) only (2) {Fj and (d) only

(3) (a) (b) and (c) (4) ,-ﬁn}, (¢) and (d)

wyriter ot o wfeiron vl d w8 OFD |

(a) ieifafy (b) BE

(c) wEm (d) v

E fae w1 =

(1) = (a) 760 (b) (2) F&e (c) 7 (d)

(3) (a), (b) 741 (c) (4) Fta) (c) 7271 ()
<

63. Consider the following statements and dgi:ha-ﬂm correct option.

Statement (A) : Investment in nnr{g}}m at_'l‘fy':"ﬂwa in rural areas can reduce the rural urban
migration. % {-‘T

Statement (R} : Migration increases du:mmus:ulnr season when there are no agricultural
achivities in rural areas, @p)

(1) (A) is true but (R) is false

(2) Both (A) and (R) are false

(3)  Both (A) and (R) are true and (R) is the correct explanation of (A)

(4)  Both (A) and (R) are true but (R) is not the correct explanation of (A)

P e farare o ot ) Frareg gt
O (A) ¢ T S -t nfafari 3 S T wed e W e T

e (R) : T fafere 1w & 2 wemeE | & 1 i A 1 i nfafafeal W AW

fﬂ C‘:’
(1) (A) = & afF (R) 7o &) )
(2) (A) @ (R) ST TerE € g

(3) () = (R) FFT i E 30 (A) F (R) T =
(4) (A) &R (R) 2w & A (A) B (R) 8t =mEm 76 o &

P | 48
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ch of the foll "
58 Whi : I; e IOHOWINE questions asseas the onalytical aspect of the cognitive process 7
i Yhat are nn
{a) ' ¢ national curricular objectives which can be achieved through heritage projects ?

(b)  How are methods of ky :
e story useful in the research of (a) science; (b) art and management

(¢} In how many regional lan _ T h
are broadcasted ? + guages and local dialects “VividhBharati programmes

(d) Wnte a review on two historical s 5 you have watched.
(e) What are Bharuds 7 In which regi State this is popular ?
Choose the correct option :

(1) {a), (b) and (d) cm]!,r
(3) (a), l.'l.‘.J-.iﬂ} and (d) only (b, (€}, (d) and (e) only

frerfefiasg HH -8 W e o A 52

(a) ;;@WWthﬂWWﬁﬂm%WM{Wﬂmmm
(b) W‘_ﬁ - ﬁW{a}ﬁﬂﬁ;{b}mqﬁwﬂamﬁﬁuﬂﬂﬂtﬁmﬂ

(c) ﬁﬁuwr*?ﬁmﬁﬂﬁﬁ%ﬂmﬁlﬁfvﬁmﬂﬂﬁiﬁﬂmmwm?

(c) and (e} only

(d) Wmmmﬁiﬁmmm farfan |

(€) YEBHIE? ﬁﬂ?iﬁ'ﬂjmﬁwﬁ@%@

wi faea =1 = =i

(1) e (a), (b) 3T (d) ‘ﬁaﬁﬁ (c) 3N (e)

(3) A (a), (b), (c) 3T (d) lb.. F9 (1), (), (d) R ()

65. Read the Assertion (A) and Reason [R}@jyamfnh. and choose the correct option.
Assertion (A) : Students should be r.-ncm.u;iged to ask questions in the classroom.
Reason (R) : It will help the introvert students to open up.

(1)  (A) is true but (R) is false.

(2) Both (A) and (R) are false,

(3) Both (A) and (R) are true and [R} is the correct explanation of (A).
(4) Both (A) and (R) are true but IR} the correct explanation of (A),
W[A}mﬁtnlﬁnﬁqam F TG HI |
sfummaT (A) :  ferenfei =1 = A 9 ﬁmmmﬁm
T (R) : 7% saqal fEEniEr ai‘r H HewE Hom

(1) (A) @ & it (R) e # 1

(2) (A) @R (R) ZAT 760 §

(3) m}ammﬁwmmmmmﬁ‘mm%-

(@)  (A) 3 (R) Bl TR E SHA (A) T (R) FE =0 7w

P &
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ﬁfy 1.".'-'1“_ J"| |1'r d‘p ff'ui!l"-'ll‘l-g Y I:TF ﬂrl]l-llfl'-‘d I_'|'|.II IQ.‘EI‘]"‘IE‘ITH ]:11 | ].‘WDFEL‘I: 'i-'-"ﬁﬂ'i thdl Iru.-[:hf-E‘!- #"R“EI!‘EHI
|

students in authentic, real-world prulﬂum-ﬁuh‘inﬁalgﬁ_h r
{1}  Enhancement of creativity and innovation 'y
(<) Promaotion of collaboration and team work I:"Tj

(3)  Development of critical thinking skills
(4)  Improvement of content knowledge and :iIF.'rJET
5 9 2 s o oo v foreay ol w1 o R g ) - T % G S
W HEAT R 2 CY)
(1) T it et o ot o
(2) T e i o )
(4) 199 3 o #re o qum

|

The ideas of Liberty, Equality and Fraternity of the Indian Constitution are borrowed from

67,
— : |
(1) Russian Revolution (2) Ma%unn
(3) American Revolution (4)  FrenehAevolution
HIAT AT w1, we aen w % 4 r
(1) = wif A @S o ami =
(3) =wit=A HifF | @1 A

: . X
68.  Which of the following are esscn?nl elements of % trial ?
(@)  The trial is held in an open court.
) A copy of charge sheet and all other evidence that the prosecution presents to the court arg

given to the accused.
{¢) The defence lawyer is not allowed to cross-examine the prosecution witnesses.

(d) Judges decide the matter on the basis of the statements articulated by lawyers.
Choose the correct option - ' '

(1)  Only (a), (b) and (d) (2) (b}, {c) and (d)

(3] All(a), (b), (c) and (d) (4).  Only (8, (b) and (c)

71 5 7 - fawen P gramd & geng e

(a) Emm%"&m%q&ﬁ TR ¥ e

(b) M- ﬁr-—arﬁ;ﬁmnﬁmﬁmfmrrq_ 1 U W SR A g

(c) aHE 8 % R 1 AT 95 FT ST mnﬁwﬁﬁmmqmﬂmﬁ
|

i
_ O
(d) AT TR & HIE G 5 T A e v e v E

AE ey = 999 i
(1) %9 (a), (b) T (d) (2) T (b, (<) 74 (ol
(3) (a), (b), (c) T4 (d) F¥T (4)  FE (a), (b) 741 (c)

P-LL (e 50
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", 1|'lr|'l!|-'h of the lll“u“;”‘ | : . -
workifig In group Ia,f.-hh? LA hl'lll.lll{ 18 most effective to assess individual perfarmance of o student
a)  Rubrics k%
: A~ b)  Multiple Choice Question
{c} Presentation E:)._E;EJ Portfali
ortfolio
Choo=e the correct Option ; {:}I:_)

(1) (<) and (d) {2] {a) and @ (3). {a) and (b) (4) (b)and (c)

ﬁﬂmﬁﬁﬁﬂm-ﬁ[mﬁﬁ = 3 .
- _ AR IV 2l Sais o Be-o W § s e w E AR
BTA| 1 ST -3V YR F ) 6 2 ~J i

(@) LTl ) mm
(c) IRES W (d) TEEfER
Wi fawey =1 w3 =53

(1) (c) 741 (d) (2) ta}?rm{ddo (3)  (a) 79 (b) (4) (b) 7 (c)
Q0

70. Which region in India has the highe.-{ﬁaqcenmtign of Adivasi communities ?
(1) East India (2)  West m‘% £ NorthIndia (4 South India

mtmmﬁmwig%mﬁ
(1) gEi vrE (2) fEm 3 (3) TR H (4) =Ew WEE H

71. Which one of the following statements accurately reflects the co of plurality i ial sci
curriculum ? Choose the correct option : y ncept of plurality in social science

(1) Exclusion of certain perspectives from social science

(2) Use of complex language in social science curricular materials

(3) Dominance of a single ideologyee?

(4) Inclusion of multple pers;:ecﬁwd diverse view points
mﬁm?vmﬂﬁﬂ,amaﬂ?ﬁ fFrefefen § & $-m w0 w8 | qutm £ 58
faey =1 797 ®L)

(1) T faam @ ﬁﬂﬁiﬁ"ﬂ%@

(2)  mfr o Wiz w7 Ffe w1 3w

(3) uww fammum ®it wg@Ea

(4) @ witawl oi fafay gfemmi i wfafem wo

P-A0 N 51 K
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Consider the statements (A) and (B) and choose the corfect option

e
{A) Ihis n: itural sg 1°MCEs are SuUperior toy social sciences and are the domain af bﬂﬂh[ Hludt_“hf.‘j

B
S adjust to an increasingly independent world.

(A) i5 ﬁﬂ.‘li.' but (B) is true
(%) Both (A) and (B) are trise (4) BullfmJ and (B) are false
T (A) ST (B) T frm wifo ot e faere gfvi

(A) T@Wﬁmmmmﬁqw#aﬂwﬁﬁﬂﬁuﬁﬁmﬂﬂ%

(1) (A} is true but (B) is false (2)

(B) sl famm st n@mmwmmmaﬂmmmhﬁm

= fava § e 2 F faw sravaE 3 o D
(1) (A) 7 ? v (B) gy 2 (2) (A) =75 & fa=(B) v &
(3)  (A) =i (B) 3F1 weg # (4)  (A) 3fT(B) 5+ o §

73.  Involving teachery is
framework to '
2

(a) integrate contemporary events a@? prwnllm_%hangﬁ
(b)  make curriculum and evalu.i_l}%n only sub]aqx_:funhzmd and to limit its scope.

(c) save time, labor and money by using teachdts gnly as a resource.

(d)  make necessary changes according to the Iﬂé%ﬂif'h?ﬂ&ﬂrﬁ by using the experiences of teachers.

Choose the correct option : ey
(1) (a), (b) and (c) only (2) (a) %{b} anly
(3)  Only (a) (4) (a) and (d) only

A fH5H % et wveEn % Froio 8 fe @ e e aE s

(a) HHEHES TS St wafew U w5 e w0

(b) --mmmwmﬂ-ﬁmm.mwmm%mﬂﬁﬁmmtm.
© mmﬁﬁmw-#m#mwﬁu 78 3R o ) w= w E f

(d) ﬁmﬁﬂ;@ﬁf%iﬁﬁﬁﬁ?mﬁmﬁ#mwmﬂﬁmﬁﬁ%ﬁm
T faweq w5 w7

(1) %= (a), (b) 3% () (2) W A1 (b)

6 @) W D )

P-L SRR 52

rhl bmhll SCIENCes are p ‘--:LL‘I'I.H |1 o Fru'l. i|_||=' "i{_'k:'];"'l.l I_Lllhi.rﬂ! ﬂnd -:II"I.LIJ.} E-L‘t! Ekl.ﬂ'; ]'Eq'l.l.l.l'ﬁ:“d I'ﬂ

considered impﬂrtug{ in Lhe dr_-wlnpment of spcia]l sciénoe assessment

ﬁl
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neider the follbwelse :
- VIR Statements. Assertion (A) and Reason (R) in relation to the nature of Social

scienee and choose the correct option
Assertion (A) : The soc
| I_|1_1 "-;‘u. 1111 iq_"r“._ﬂ:Hq have "Ir_u'r”.h“:'p{l.tl thedr oo dHabimet methods for de aling witth
= S N an objective §608 sysiematic way.
Reason : Unlike s, i .
umltit-.::llw I"murml SCIETCRS, in Socinl Science it s difficult to insulate the observation
FRALYSIs of factsdromn the pressures of popular sentiment
(1) Only (A) is true ,{:\.: : s | |
(2) Omnly (R) is true M'::'h
i
(3) Both (A) and (R i '
B (R) are true and i’ I8 the correct explanation of (A)

(4)  Both (A) and (R) are trye but (RYSs not the correct ex i

. : planation of (A)
A = T iy S e -
P i FwAl s (A) % (R) ™ e st am
BT (A) + “-'"'ﬁﬁﬁmﬁﬂﬁfﬁwﬁﬁmnﬁ(m}ﬂﬁmﬁmmﬁﬁfm

Ttk fomifim =1 8

& (R) : Tt T A e (smgm), wmtes e # dem s & e 3 ael
e ue fawem w1 g s we )

(1) %= (A) Get & O

(2) G (R) 76 & (9 o)

(3) [M#{{R}ﬁﬁm‘rﬁﬁmm,{%m@wil
(4) tﬁlﬂﬂ?fﬂlﬁﬁfﬁ??mm].{ @’m#ﬁtl

Which of the following may be used @num democracy ?
(a) People are equal and free -

(b)  People are wealthy and prosperous

(c) People resolve conflicts in a better way than others
(d) Government is more accountable and rational
Choose the correct option ;

(1) (b), (c) and (d) (2) (b) and (d)
(3)  (a) and (b) cetd) (), (b) and (o)
Tk 1 i & et o & feammepm fem @ s
(a) T HEE S =S o

(b) T SR AT O
(c) i FE I HY S gern H @7 “
() T S FATERe S T

B e €

wEl fawey &1 9979 L ol
(1) (b), (c) o1 (d) (2)  (b)T9l(d)
(3) (a) F%0 (b) @) (@) (b) 74 (c)

53
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7h. T\r-'i“'h th':' J‘l."”lli'.'l.!]ll_': and chooses ||“_1 .‘||'I]'Il‘li1]'ll.'||.1t"'." l-'i]._'lhﬂ“

Indicators of Assessmenl Skills/Abilities
(a) Discussion (i}  Sensitivity towards differently abled, showing concern for
environment
[E\l ﬂ]ﬂ';if_lnlntfnln Ifil] HJII’:H‘IH |;_i:1|;£|i cormectons

Ht-p-.-r:in.g:'-'.ﬁ'un?mtinl;, picture-reading and drawing
T i

(€} Normative concerns (1]
(d) Explanation (iv) Listening, %l{;ejsing opinions and finding put from others
(1) (aliv), (b)-(ii), (c)-Gi), (elj-(i) Ué'
2)  (@)-(i), (B)-(iif), (c)-(iv), (d)-(3) (Y2
(3) - (@)-(iv), (b)-(iid), (€)=(1). (d)-(1i) UC,
@)

(4) (a-{iv), (0)-(ii), (c)-(3), (dy-(idi)
A1 Fiet. Tereif 7 Fererm w6t e ey fores o -
STFE % HEas TR / BT

(a) et () Tt g 3wt T, e 3 Wi fafn R
- o
(b)  EwTFA i @5@% mp’ ]
. [u.}‘\@ I8y
(5] Fams (@ fififén, aofa’ G- va afir srEm
(d) Freism (iv) w.m%m;h{ﬂﬁﬁqmm

(1) (a)-(iv); (b)-(ii), ()i, ()1
(2)  (a)-(i), (b)-(iti), (c)-fiv). ()i
(3)  (@)-(v), (b)), (c)-41), (d)-(i5)
(4)  (a)fiv), ()G, ()-(3), ()G

)
O
9}

77.  Lata sells tea at 5,00 am. She then goes to fetch water from a far away well ‘ |
: 2 Al After reaching home
she cooks food, washes clothes, cleans the house, .T@EE d th '}' ; rchase | 2
her tea shop. All this can be referred to as | bt ekt B P

(1)  Housework (2) Paid work (3) %&gﬂ‘:ﬂg (4) Double burden

1 GG 5 A9 5 A § | S A 7 A o A o € |
t,mr#ﬁ'ﬁﬂtwﬁwﬁ-ﬂ-tw—ﬁmmt%mwmrﬁ;ﬁgﬁﬁ
wiRwm Al b A Bt ()

() TeFH (@) yEEd @) o EE @) Ao

P-IL UMM o
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LM

B1.

L1 * K

A large number of people in rural India who un J'nﬂdli. ag, although their mam livelihond SRl

agriculture are called ag -

(8] Margmal farmers b hé‘{ ant labourers
(1) QJ ank li

(€} Agricultural labourers (d) SEall farmers

Thoos ‘ cQ)
Choosa the correet option : P
(1) (a), (b) and (¢) only (2) {ﬂm; and (d) only
(3)  (a) and (b) only (4) (b)and (¢} only
PRI S 3 s S e 4w e §, i s i e s w i, weed §
fa) Hrw fan (b) WA A e
(c) g g (d) wie fwam
il fawe =1 575 59 E
(1) & (a), (b) 37 (c) (’2\ Q@.m (e} 3 (d)
(3) A (a) 3 1) Q‘bm ﬁtﬂ i (c)

¥
)

Which of the following resources are relevant to discuss the theme "decrimination’ 7

(1) }qﬁr_raliw of B.R: Ambedkar's experiences of looking for a place to stay after returning to
ndia, :

(2)  Advertisement of a woman washing ILT.'I:.I-H'EE'.!‘} in & commercial.

(3)  Text of Ashokan inscriptions.

(4) Universal Declaration of Human Rights, P

s ﬁwmﬁmmmmﬁﬂ@mmmv

1y s Hﬁm#ﬂﬁﬂ.ﬂﬁ%ﬂﬁﬁmﬁﬂgni@#ﬁﬂwqﬂm
(2) mm.ﬁmmmmﬁrm
(3) v & ST i fefy Cﬁ
(4) s 1 Afe o
|
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82 A h.,-..'1]-|||~.r 1-...-.-.r.1r.1-. to divide a0 students of her class in small groups for a task on diversity. Which

will be the most relevant way to make small groups of students ?

(1) According to students marks in [ast exam from high o low

(2) Heterogenous random Eroups based on a pame

(3) As per students comfort P

: L)

(4) Benchwise from front to back ;Z_',}
. . & i

feerer "f"‘*;“* T S 8 U svenfim sy mn i 30 il w1 wr-wi g F st ww @ b

Frerfeiten § WE T 1 - it et SR 6 2

(1) hﬁﬁiﬁﬂ&;ﬁaﬁﬁ?ﬁanﬁm#ﬁ?ﬁﬂ%mﬂ

2 Tamm Tty a o e e o 7

(3) TeEeE w5 g ~

(4) mﬁﬁﬁ%mﬁﬂaﬁ#mﬁqmﬁ

§3.  Which of the following provide scope to develop critical thinking skills ?
(a) What role did the Yamuna play in the layout of the Mughal city at Shahjanabad ?
(b) What is the purpose of press confefefide 7 How does the press conference help vou get

information on what the gn'l.remmmt'ﬂ.bgﬁ ?

(¢) Differentiate markets with illustrati Q’mplea.

(d) Itis necessary for the civil servan politically neutral. Explain.

(e) Availability of water is a major [auu%fecting the settlement pattern. Discuss.
Choose the correct option : 2

(1) Only (a), (b), (d) and (e) (2 Iy (a), (c), (d) and (e)

(3)  Only (a), (b), (c) and (d) (4)  Only (b), (c), (d) and (e)

fretfertaa § & F serame fae F10 51 fwian w0 51 S T 5w S0

(a) TTESEIAATS T T W AG HC A A 7 e o 2

(b) W = W WA §7 W 0 H W E W 0w A G A 2 (e )
FHIYHT HETHAT Flell € 7

(c) Feuil SETeRvn & Tre wEn o oY

(d) UF wrw-HaE % fo T Ay & e oeifee w0 9 qem A s 5

(€) maﬁw-aﬁuﬁmﬂu@ 1 U HE w0F ¥ A=) F

W fasmen &1 =597 w10 %)
(1) ¥4 (a), (b), (d) R (e) (0 B (a), (¢), (d) 3R (e)
(3) A (a), (b), (¢) 3T (d) ..(*?Nbfﬂﬁ (b). (c), (d) 207 (e)

LTI 57 K
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£ Flnndnml-nml Rights and Duties of Indiin Constitution ame written on the walls of social science
classroom. “This will make children loarn primarily through

(1) Memorisation {2) FReasoning (3) ;—Dh'ﬁﬂl"l'-.lh'un (4) Imagmation
1S T T it s § a2 e e st st 9 € w9
TR %o fram £ o
(1) I wen : . <.
(3 (3) gy (4) T
cY)

I'.! _'I-'CIH S (o L'I_I![I."\'._'t L'ﬂj .H jll i l -I"] and oo

1) Project me
(1) Project method (<) Problem-salving method
(3] Inquiry method (4] Survey method
mwaﬂaﬁ: Y Witen sttt 21 Srertae = we fogfy F i A S T w0 ¥ e e Rl
= T4 HiN 7 I
(1) wligr fafy 2 <e) '
(2 Wﬂﬂ (1L

(%)  EEEE e \L@\(bp!ﬁ%ﬁl
N

86. According to In ] is ki jom |
¢ ng to Indian Constitution this kind of TESEFIMOn is not a violation of the right to equality.

(1) To ensure jobs based on nepotism.

(2)  To give jobs to close kith and kin of political leaders.

(3)  To give special treatment to someone in order to ensure equal opportunity.

(4} To ensure jobs to people from States where m@ﬁmd representive or Minister comes from,
NI BEYE & AT T v TSR THAN FSHER 1 Fewter

(1) w@m#mﬂmqﬁﬁwmg
(2)  TrEAmE ¥ w0 g w5 et Eg
(3) mmaﬁﬂmmﬁt:ﬁqmtmmwmn

) mm#mﬁﬁmmﬁmwmﬁaﬂww
P-IU T a8
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K7, H.[TLI-FLFJ:: Assertion (A) and Reason (R) statements carefully and chooge the correct option of the
ForEICry 4 .

Assertion (A) 1 Values can be taught, too
Thit, ko,

Reason (R) : Soclal studies i a subject th;.-.ufah which all basic values can be aught.
(17 (A5 true but (R) is falze [‘?"\.
(2). Both (A) and (R) are false, (V)

(3) Both (A) and (R) are correct and (R) explainbfA).
(4)  Both (A) and (R) are correct but (R) does ndp Eplain (A).
U (A) S W7 (R) 91 s e stipsfferfem # & wl fren 2F -
AT (A): WF T v i wwa g 00
IO (R) : Wﬂﬁ?ﬁaﬁwﬁmﬁmﬁgﬁwﬂn@q@mmmMiI
(1) (A) ¥ & 5 (R) 575 &
(2)  (A) 7 (R) T swen #
(3)  (A) 3R (R) 21 981 § =i (A) aﬂm}mﬂh
(4) imﬂh{mﬁﬁm’r%ﬂﬁqm]aﬁ{mwaﬂm%n
@ )
B8, Which of the following should be cons@Pred as WET neutral atmosphere in a school ?
() A group of girls are making Rangoli )
(b) A group of boys are volunteering in annualfunction
(¢ A group of girls are preparing for dance mq:éﬁtinn.
(d) A group of boys are arranging refreshments for guests.
Choose the correct option :
(1) (a} and () (2)  (b) and (d) (3) {a)and {b) (4) (b) and (c]

Ftferfan # 9 #r-4 feafy faedt farmrer 4 fofn' g2 amapro) =1 3emmm £
{a) TTEMEAT & U HHE G Ui ST g

(bh) EH F HYE g Aifiora § weE w07

(c) wrEfFEl % WiE 5 aﬁ-ﬂﬁﬂ’lﬁﬂ?ﬁﬁﬁ'ﬁ
(d) TS 35 AE g A 3 fe S i

o0
i faee &1 99 @i | o

(1) (a) 70 (c) (2) MFE) (@) (a)TN (D) (4) (o) (¢)
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PART - IV
LANGUAGE -1 : ENGLISH

‘lMFURTAN I ¢ Candidates should attempt queghions from Part-IV (Q. No. 91-120), if they have :'lptm)

e
-1

for ENGLISH as LANGUA nly.
ok

Read the passage given below and answer I;ht:‘:.]mlliﬂl‘ll (91-99) that follow :
I On 15 January 2009, several interesting thin " happened. A plane crash landed into the Hudson

River, right in the middle of New York Ci @ pilot, crew and 155 passengers escaped safely.
But then, something else happened... ILI:I"I\'%M nearby and watched the event happen. He
immediately tweeted that he had just seep-geplane crash in the Hudson. From there the nuw-I
spread quickly. People contacted him in intely and asked him what was happening, 4ie

other people on the street took photos an deos with their phanes and posted them L\nlit‘_l'-!-L
Ordinary people suddenly became journalists. Tt was 15 minutes before the news broke on officia
news channels,

Lo Photos, videos and twests from ordinary people at the scene of dramatic events now ]'-T'l'“r'_id"-’ lhE
words and images that describe events in the news. When a meteor exploded over a Russian city
in 2013; millions of people arournid the world watched videos and photos of the event on Facebook
and YouTube, Social media can also save . [ January 2010, an earthquake hit the Cari hl‘h?ﬂll'l
island of Haiti. The government said thaf ffikre had been an earthquake, but they didn’t g.n.el
many details at first. Meanwhile, people I?lﬂ; in the disaster area were posting photos and eye

witness accounts on Twitter and Faceboo telling the world that it was an emergency al.-;"i_
houses were collapsing, A local radio preg r used this information to help people find family
members, and people even phoned h to usk il their relatives were safe.

3. News travels fast on social medmﬁ cthries spread just as quickly as the truth. Some of
these “facts” are erroneous, athers are delibirite hoaxes. Hoaxes remind us that not everything
people post and publish s reliable. But soqiif media can change our lives for the better.

91. News on social media :

(1) are deliberate hoaxes (2) are insignificant
(3) are reliable (£) travel fast
92, Read the following statements - -

(a) A plane crashed on 15 January, 200800

(b) 155 passengers escaped, but the pilot(dsPhis life
() Jim, an onlooker, posted pictures on FRdebook
(1) (a) is correct, but (b) and (c) are incoftéch

(2) (a), (b) and () are all incorrect ()

(3) (a) and (b) are correct, but (¢) is incof&ch

(4) (¢ is correct, but (a) and (b) are incoGE}

93. The mgtgntggphim ﬁnﬂn:lﬂ'injtui&[nmwnh:hed by people on :
(1) All social media handles (2) Facebook and YouTube
(3) Twitter (#) YouTube
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a4.

-

96,

97.

98.

99.

Identify Parts of E?].'lwrh of the undedined words in the sentence givien below :

But social media can change our lvesfifithe better

{1} werb, adverh 'Eﬁ’ noun. ndjective

- . i
(3 noun, adverb {:%g verb, adjective

xS

Complete the given word analogy €
dramabic : exciting : thoax: 3 @,‘J

(1) example (2} excuse = (3)  media posts (4) deception
Arrange the Iollowing events as mentioned in para 1 in the correct sequential onder.
{a)  Jim watched the crash and tweestad,

{b)  People started contacting Jim for updated news

() Aplane crashed into the Hudson A er.

(d)  The news of the crash was lnnn.: 15 minutes later,

(1) () = (e} — (a) — (b) @0

@) (€)= (a) = (b) - (d) B
13) (€)= (b) = (d) — (a) ’
(3) (B} =) = (a) — (d) g\%

~

Some of these facts are erroneous . The antonym for the underlined word in the fiven sentence

152
(1)  invalid {2} surprising (3 faultless (4) inaccurate
Why should we not take m-.:hm O SOC w lightly ?

(1) They ecan change cur lives for l.h{k.jmr.
(2)  News posted are hoax and confuFgg.

(3) The facts are erroncous, i N
(4)  Strangers can call you lo seek ln%%‘mm
Credinary péople suddenly hmmpu;dsts meEans

(1) they started contacting Jim to know the details

{I:! they left the jobs where they were employed

() they started posting news-bits pictures and videos on social media
(4)  they headed towards media houses to sesk employment
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gead the povi given below and answer the questions (100-105) that follow :

100.

101,

102.

1“3-

104.

105,

Great, wide, beautiful, wonderful world,
with the wonderiul water round veu curled
And the wonderful grass upon 3,-,_.,-._“ broast
World, you are beaulifully drest.
The wonderful air is over me,
And the wonderful wind is Ehnhj_ng the tres,
It walks on the water, and \.d]ﬁﬂh {he mills,
And talks to itsell on the tuixﬁ'f;f}l.he hills.
You friendly Earthl How far do you go,{*
With the wheat-fields that nod and the @-,fgr.u that Now.
With cities and gardens, and cliffs, and islés,
And people upon you for thousands of ;tlﬂ,t'ﬁ 7
Ah, you are so great, and I ariso small,
I tremble 0 think of vou, Wr_utlu.l at all;
And yet, when 1 said my prayers today,
A whisper inside me seemed to say,
'You are more than the Earth, though you are such a dot,
You can love and think, and the Earth cannot!’

S
The wind in the poem talks to - .HQQ,.O
(1) clouds (2) hills: ‘;@3 (3)  itself (4) trees
)

In this poem, the poet describes the : "-j

(1) beauty and vastness of Earth (3 lifein the citics

(3) the Earth, its present and past -.’qjj the plants that grow on the Earth
o)

What does the underlined word refer o5

‘It walks on the water, ...

(1) wind (2) Earth (3} wiver (4) grass

In the line, “with the wonderful water round you curled’, the word ‘curled’ means
(1) mounted (2) turbulent [ (3) arched (4) surrounded

[dentify the figures of speech in line 1 n@&"!.)m.i. !
(1)  alliteration, - persanilication ()« simile, alliteration
(3) anaphora, personification alliteration, metaphor

d on Earth that make it great.
cities, grass, mills
iSlEE-; CRO2AINS, P"-‘Q‘P].E

List the 3 different things (in stanza 3)
(1) wheatfields, trees, whisper

(3) rivers, gardens, cliffs

63
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106, The impact of tests and kssessinents an teichers, leamem, and materials is called

(1) Classroom effse (2} Reinlomcemenl

(3]  Corpus effec (4) Washback effect

-
) . ;
107, Malch the lnnguage teaching methods l:%j:imnn - A with their understunding or related activities

inColimn - B¢
L

Column - A - Coluimn - B
(a} Communicalive Language de%"ﬁ] (i) Socially acceptable and contextually
- appropriate languags
{b} Direct method ) () Silent reading
(€} Grammar Translation @ )] (i) Written litorary texts
(d] Wost's New Method ] {iv). Grammar is taught inductively

(1) (ad={i), (b)-(), (Ch(d), (d)-Giv)
() (a)-{a), (b)-(d), (c)-(iv), (h)-(iil)
(3)  (a)(0). (b)-(iv). (c)-(ii), (cy-tis)
(4)  (a)-{iv), (B)-(i), (c)-Gils), (d)-Gi)

108. Which school of lenrning belisved that Lﬁguugu whether verbal or non-verbal, takes place through

the process of habit formation 7
(1) Cognitivist L_jﬂ Q(Tntma::hun-:usf
(3) Functionalist g Behaviourist

109. A language teacher brings every dn such as newspapers, monu cards and train tickets (o

teach the studenis of class V. 'What is doing to make leaming happen 7
(1) She wants her students to learn 1sh through real life Like situations.

(2) She is creating awareness in the students,
(3)  She is using authentic materials to make her teaching more realistic and useful,
(4) She is trying to help her studénts o leam multiple languages.

110. Which of the following statements is NOT true about languages in India 7
(1) Sanskrit is a Modern Indian [
(2) |
(3)
(4)

111, Multilingualism in India intends tea “

(4)  minority lllngungeﬂ Il‘qnulﬂ be L'lub'bnd with dominant langua.ges
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113.

114.

115.

11b.

117.

118.

119,

120,
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The time and place of the story ‘are called the
1) Plot (2) Climax (3) Theme (P iaetng

Listening involves |

(1] usmg prior Llll;,“'l,‘l[i-dgg of the ﬂuhjﬁ"l

(2) recogrusing sounds and deducing the meaning from it
(3) hearing the sound, decading the sounds as they are
(4) guessing He content

Which of the following is NOT an important factor in planning a listening lesson ?

(1) Gender of speakers, 2) Number of speakers.
(3) Pousing the recording, (4) Speed of delivery.
Which skill of langunge is known as receptive skills 7

(1) Reading and Writing (2) Listening and Reading
(3) Listening and Speaking (4) Speaking and Writing

A teacher gives a task to familiarise the Jearners with the vocabulary used in restaurants. What

among the following should be objective of the lesson 7
(1) To introduce the text about a holiday dnsg@:ﬂnn
(2} To develop critical thinking ’b

(3) Toacquaint the learmer with the Ie@ items

(4) To familiarise with the grammat@S) tems

In a language class, students form groups under the guidance of a teacher and prmm arn
advertisement on a given lopic. Learning a Janguage in this way is called

(1) Language games (2} Guidance and counseling

(3) Collaburative learning (4) Competition and rivalry

Linguistic function such as intonation, tone, stress, and rhythm are known as
(1)  Phonetics (2) Pragmatics (3) Poetry (4) Prosody

Inalanguage class, a teacher asks a group of students to act as pun:hasurs. property sellers, landlords
and tenants while other students are asked to watch them and enjoy their conversation. This

activity is called
(1) Acting class  (2) Gulﬂan:e (3) Roleplay (4) Drama

Schools should follow additive bilingualism because it :

(1) promotes the child’s language but not the culture

(2)  hinders the development uf the first language

(3) values the culture and language of the child

(4) gvumpmmmmmm&gm”nmmw
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PART -V
LANGUAGE - I‘l 4 ENGLISH |
IMPORTANT : Candidates should attempt quedtions from Part-V (Q. No. 121-150). if fhﬂ?—]

have opted for ENGLISH s EANGUAGE-IT only

s

Read the passage given below and answer the qud'uiiuns (121-128) that follow

Chocoholics no longer need to feel guilty abo ;‘.ﬂmu desire for chocolate, They are simply the
vichim of the genes, scientists have f{'lurld.r The 55 J lled “sweet-tooth gene” has been identified by I
separate teams of researchers and helps E'){'pLEIJI-I'Wh} some find it harder to resist chocolate bars
and cream cakes. It also raises the possibility of designing a drug which could “switch off” the
gene and help people resist sugary foods, Children, in particular, risk their health by eating too

1

many sweels and chocolates,
To identify the gene, research teams conducted almost identical experiments using mice which

have ditferences in their ability to taste swest foods, One of the team members said “A sweet taste
of food and inttiatesa cascade of events which signals to the

L

receptar recognises the sweet content
brain that a sweet food has Been eaten.” He further added, “The same gene exists in humans, so it

means that if your parents have a mwt'r:xo:@xf@1 you probably will as well”,
1 % i AT L 0 o -
3. He said, "We have always known tha pedfile have a sweeter tooth than others. But it has ‘

also been proved that if you are [-',TE'-{'{@J' r.xpn{:.;_ip less sugar, then the body becomes accustomed
to less. They will be satisfied witfo) lower ieﬂ.ﬁ;@f sweetness. Doctors warn against any form of
gene therapy which seeks to deactivate the syeet gene. "We have produced this gene through =
evolution because sweet foods in nature are rﬂgﬁﬁmmum they give us energy. We all need to
have some sugar in our diet,” claim sctentists, (U5 rescarchers are using this discovery to develop’
artificial sweeteners without any after-taste. |

121. Having a sweet tooth means : !
(1) teeth being sweet to taste _
(2)  teeth becoming decayed due to sugary food items |
(3)  buying sweet food items from shops
(4)  being fond of sweets and chocolates

122. Doctors are not in hvﬁu:afgmumﬁ-upyba:ﬂﬁ :
(1) People ﬂ;mjeel guilty after going throu
(2)  Iewill mhmmﬁirhv&lu in the body.
(3)  Sweet fonds give energy to the body,
(4)  Itis poisonous.

P-IL Iy
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123,

124.

125,

126.

127,

128,
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Ao i.'l'lllnl'.'. ) I.,Il!ll."ll'l'l"; a3 DU | r|'\|| '|L|5| Are *

(1) poisonous (2} deactivated genes

(3) dangerous (4) energy boosters

The phrase ', . . . Initates a cascade of events’, means :
(1) signals given to the brain

(2) o start a senes of otcurrences

(3) to puta stop to orderly events

(4) to halt and hinder sequential events

Read the statements given below :

(a) Dectors have favoured gene therapy to control sweet gene,

(b) A sweet taste receptor recognizes the amount of sweetness in food.

ic)y Heredity factors have absolutely no role to play in inheriting the sweat gene.
(1) (b) and (c) are incorrect, (a) is correct

(2) (a), (b) and (c) are all incorrect O(Q

(3) (a) and (c) are incorrect, (b) is ul_‘urﬂﬂ:'té@'

(4) (a) and (b) are incorrect, (c) is cur@;%b

‘Chocoholics” are people

(1) who are fond of chocolates

(2) who are makers of chocolates

(3) who hate chocolates

(4) who enjoy both chocolates and alcohol

Identify parts of speech of the underlined words in the given sentence ;
‘Doctors warn ag3inst any form of gene therapy which seeks to deactivate the sweel gene'.

(2) conjunction, noun

(1) preposition, noun
) (4) adverb, adjective

(3)  preposition, adjective

Complete the given word analogy :
accustomed : habitual ;¢ initate : 7

(1) start off (2) hinder (3) halt (4) complicate
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120-135) that fallow :
Read the passage givien below and answer the ']“H“n“h' sl with waving Tibetan childron. Theg

i Every noww and then we would spesd through o village li _ ; ingy down,
villages looked wonderful and mpm*m:rp; that Dure tvas nol "'1_'"'""“"" m:‘f w;|::j !:\:_ir._-:hﬁr in the
Senall clusters of sirygle and double storey builidimgn with “'um'mlfmg:ir'i“ﬂ::: brilt for the harsly

g, Thie houses jooKe 1F writh wrid ks 0 th

foothills o gain maxtimum exposure to the Sk A i i
epvirereminl . Walld gie made up of stone o walsy lweght and s
roof, i earm lned the widow Jed res, with the bright orange of marigolis in full Reom Hvoning

up the black-and-white of the hoses (il

Nranchey of s adormesd with .l-nh'rur’ 21 | Frﬂqﬂ'll: ﬂnip b h.i‘H_h into this 'H-'ITHII 'm“r;thl' E:Pﬂﬂ i.r'I |

Hat mals, The nusplcious blue. white, red, H:m‘l and yellow colours of the fabirics nt l:_-d B

the rich Blue of the Tibetan sky. Esch prayer fag carrics a pictumn af Lungta, the jewe ihragon

harse:, who carrbes the owner’s prayers up to the divine every tme the flag flaps in the W by

The latger villages have healthy trees, usually willows ar poplars which look quite vut of place in

the generally tresdess landscape. Wood is g precious commuoudity in the Hiphlarkd areas of Tibet and j

t never wasted: The frw shrubs which grow wild on the hillsides are harvested for s as brushivood
mountaing o get o fire started.

and vach courtyard wall is piléd high with sticks gathered from the
Th lack of solid fuel in the shape of wood is not a groblem for the Tibetann, who have an Ingenans

wood substitute : vak dung.

T4

128, The phrase ‘courtyards jostling together’ tnplies
(1} being one an top of the other (2 (Q'Hr]ng in close proximity
(1) -bemg very far apart i\%ﬁo buringg i different sizes and dimensions

=)

130, Whal aspect of Tibetan hmu;@tmm the passage i incorrect *
(1} Rools are made of mud bariithos.
(2)  They are solidly built,
(3} Walls are made of mortar and coment.
(4)  Tin cans line the window ledges.

131 Why do the willows and poplars look absurd in the landscapy 7
(1) Because the landscape is genorally teeeloss,
() The other trees camouflage them,
@)  They ane stunted shraba,
(4)  They have minimum branches and leaves.

132. Complete the given word analogy |
precious ; valuable : : ingenious : 7
(1) genuine (2} practical 3 thearctical (4)  inventive

133, Yak dung i used by the Tibetans as a substitute for :
(1) fire ) woed (3)  buildings (4)  marigolds
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138

137.

135,

139,

140,
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i LW stemenits
Ansertion (Al Winond anid sticks arn priled high against the courtyard walls in the hose
eanoning (1) o Wood s found in abundance siross Tibet

(11 (A) and (R) are both incorrect

71 (A) w cormect and () 18 the reanon for it

(A A S reorTe it -I:Hl 1% Correct

(4) (A} is corroct and (R) s not the reason for it

Bad 1A [l oen

rdentity the underlined words in tw given sentence

The lock of solid fuel in'the shape’ of weod s not a problem for the Tibetans.
(1) mern. eon (2}  wverb, noun
(3 noun, adpsctive (4) adjective. noun

Inctin’s language in education policy (Three Language Formaila) attempts o promote |
(1) Bilingual education with the focus on Hindi

(21 Mother-tongue based multitingualism

(% Multi language education

)  Monolingual education

What & a short story which has animals as tlm@mln charadters and teaches an explicit moral

called 7

(1) Scumee Ficion  (2) Travelogue é\?ﬂ Fantasy {4) Fable
‘Q

Which of the following stitements amw gl‘ﬂﬂ !

(o) Dyslexia s a reading disorder.

(b} Dysgraphia is o writing disorder.

() IDlysgraphia isa reading disorder.

(d) Dystexia isa writing disorder.

(15  Both (a) and (b) ans correct {3) Bath (¢} and (d) are correct

[#) Only {a) is correct (4)  Only (b) and (d} are corect

Rita, & govermment school teacher, uses visual devicss and language games to teach English to
elass VII students. Which principle of teaching is Rita applying ?

(1)  Principle of motivation and interest

i3]  Prnciple of correlating with life

{3)  Ponciple of natural process

(4]  Principle of practice and habit formation

What is NOT true about top-down processin
) thnmmhumnlﬂu‘kmwlﬂgedﬂnwnﬂd
(2) Hﬂmmmﬂtﬂmdmhrﬂ AT
(3] Listeners rely on their backgrow
(4 Lhwinuhemnﬁmthm&m

LT n K
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141, Which tool i not fdeal for formative assessment ? ;
(2) Class presentation

(1}  Project
(3} Amignment (4) FPapur pﬂ'lrll kel

Assessmint done Lhrouphout the tesching-learming process 1o clarify student leamning ang

142
uncerstanding is called
(1) Assessment in Learning (2] Assessment as learming
(3] Assissmant for learning (4)  Assessment of learning

183, Learndrs should be pxposed to language, and emors are evidence that learning s taking place
advocabed try '
(1) Humanist (%) Peychoaralyst (3) Behaviourists (4} Cognitivist

144, Croativity in languspe education is :
) classroam activity using niew mithods of teaching.
(2} classroom material asing comomumicative language tenching,
(M operrended classmom tusks which allow for different interprotations and answens

(#).  merging elements from different subjects to understund something.

145. Which is a tool
oppartunities ?
(1) Telvision (2)  Padlet QO(Q{JJ

>

146, What is NOT true about errors in lﬁﬁ;ﬂt learning 7
(1} Erroes ame crocial aspedts of e lnnﬁuugu'lurrﬂng proxess,
(2} Errors help to understand the process of second language scquisition,
(%) Errors hinder the language learning process,
(4)  Errors are not always bad amd help in learning,

Texthook (4) ' Railway tickit

147. In a second language class, a teacher played audio on “Health is wealth’. He then distributed
the correct answor from thi given opton. The n:rbjmﬁw-ﬂ

handouts and asked the students to tick

the lesson was to enable the Tearner -
(1) to listen, to analyse the ideas (2) o memortse the lesson on health and wealth

13} to hear the lesson on health (4) ' toengage the learners with a task

148, When is International Mother Language Day celebrated 7
(1) 21" February (2) 13th -l’;er (3) 1" Janmary (4) 14" February

149. Tdentify the type of email you would write if you were writing to a colleague who is vour
(2)  Correspondence ' '

(1) Business
(3] Informal (4) Formal

150. Using pveryday objects to teach language s callod
(1) Teaching aid B Ted ‘
(3 Realia () Language games

Poit I ORI 7

that allows for & number of synchronous and asynchranous online tm::htl‘lg'ﬁ-
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(READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

| The niatner(n which (he diferem quettions an 1o be answned s beefl
sxriaieet 1 fhe Tesst Bookist which you hotid mad caretully bsfore achialy
an :*e[:m_]l'r sl

3 Dl i e e aifematves forsach question m,-mgrdublhemrll!!
anirwe b b b ke compdeasly wiih Blua/ Black Ball Peint P 00
Side-2 of the MR Anigwor Shoal The answer onos matked is nol feble
inhechanned

1 Theoandideies should ensum thal he Answar Shoad is nol lolded. Do not
k= MrEy marks on He Answer Shisel. Do nol wrile j’mrﬂ‘m e,
arpwher s ecapt |n 1he specitied spscn n |ha Armser Shes

4 Hatdie the Tesi Bookket and Answer Shesl with <, @ under no
crrumE ances (ewoapt for daeepancy in Tes| Bookls Coda of Numoer
and Answer Shaet Code or Number), another sof will ba provided

5 The candidst=s Wil willis the corgol Test Booklel Code @nd Numbér Bs
aleen m the Tos! Bookielivnswor Sheel in the Aftendanoe Sheat

£ A machine will mead tho coded mformallon o the MR Answor Shesl
Herce, nd informiation should be lefl incomplise and K should not be diffesnt
from (he inforimaton given In ha Admit Cand,

T, Canddates Ao nof stowed b oamy any beciunl mstenal, prinied or wiltan,
s of papess, pagsr, moblis phong, secimnks device or any aher masa

B Mobisphones, wirtless commenication devioss (aven |n swic ﬂo
mode] and tha olber barvied bams should nol be brought 11 the '
hallxrooms . Failing (o comply with 1hls [natrection 1§ wil ba
wting unialr means in the examination and action will bs €D
candidais including cancedation of exarmnalion

. Eachcanddstemust show on demand hisherAdmi Cad (o the inviglaioe

10, Nocandidate, without special permission of the Cantre Superintendantor
Irvieaior, shoudd lsave hisher seal.

1, The candidstss should nol keave e Examination Hal Room wihout handing
over their Answee Sheet fo the Invigitator on duty and sign the Atiendance
Shesf wice. Cases where condidate has nol signed ine Atlendance Sheet
second limewill be deemed not o have handed over theAnswer Shest and
asalt wilh as an unfairmeans case. The candidates are also required 1o
put thelr leht hand THUMB impression In the space provided in the
Attendance Sheet

12 Uie ol ElecironiciManual Caculainris prohibiied,
13, Thacandidates are governed by 8ll Rules and Ragutations of the Examining
Body with regacd 1o their condut In the Examination HalRoom, All cases
of unfalr means wil be dealt with a5 per Rules and Regulations of the
Examining Body.
14 Nopart of the Test Bookled and Answer Sheet shal be detached undar any
ciTamstances
15, On completion of the test, the candidate must hand over the Answer
Sheet 1o the Invigllator in the Hall | Room. The candidates are
aliowed to take away this Test Booklef with them.
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